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1.  Farookh Engineer played his last Cricket Test match

at his home ground. Where did he play his last Test

match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

2.  The headquarter of the Indian Mountaineering

Foundation is  located at :

(A) Kolkata (B) Darjeeling

(C) New Delhi (D) Dehradun

3. The Territorial Army was established in :

(A) 1962 (B) 1948

(C) 1920 (D) 1953

4.     Bijapur is known for  :

(A) Severe drought Area

(B) Gol Gumbaz

(C) Heavy rainfall Area

(D) Statue of Gomateswara

5. Light from the Sun reaches us in nearly :

(A) 2 minutes (B) 4 minutes

(C) 8 minutes (D) 16 Seconds

6. Who among the following is present Chief Minister

of Manipur?

(A) Trivendra Singh Rawat

(B) N. Biren Singh

(C) Kiran Jiju

(D) Marry Kom

7. Which one of the following is not included while

estimating National Income through income method?

(A) Rent (B) Mixed incomes

(C) Pension (D) Undistributed profits

8. The ‘Akaal Takht’ was built by :

(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

1. Qk#[k+ bathfu;j us viuk vafre fØdsV VsLV eSp
vius ?kjsyw&eSnku ij [ksykA fuEufyf[kr esa ls dgkW
mUgksaus viuk vfre VsLV eSp [ksyk\
(A) fnYyh (B) dydÙkk
(C) gSnjkckn (D) eqEcbZ

2. Hkkjrh; ioZrkjksg.k QkamMs”ku dk eq[;ky; dgk¡
fLFkr gS\
(A) dydÙkk (B) nkftZfyax
(C) ubZ fnYyh (D) nsgjknwu

3. VsjhVksfj;y vkehZ dh LFkkiuk dc gq;h Fkh\
(A) 1962 (B) 1948

(C) 1920 (D) 1953

4. chtkiqj fdlds fy;s tkuk tkrk gS\
(A) Hkh’k.k lw[kkxzLr {ks=
(B) xksy xqEcn
(C) vfr o`f’V okyk {ks=
(D) xksers”oj dh izfrek ds fy;s

5. lw;Z dk izdk”k ge rd fdruh vof/k esa igqaprk gS\
(A) 2 feuV (B) 4 feuV
(C) 8 feuV (D) 16 lsds.M

6. fuEufyf[kr esa ls euhiqj dk orZeku eq[;ea=h dkSu
gS\
(A) f=osUnz flag jkor
(B) ,u0 chjsu flag
(C) fdju ftTtw
(D) eSjh dke

7. vk; fl)kUr ij fd;s x;s vkdyu ds vuqlkj
jk’Vªh; vk; ds vuqeku esa fuEufyf[kr es ls fdldh
x.kuk ugha dh tkrh\
(A) fdjk;k (B) fefJr vk;
(C) isa”ku (D) vforfjr ykHk

8. ^vdkyr[r^ dk fuekZ.k fdlus djk;k Fkk\
(A) xq: jkenkl
(B) xq: rsxcgknqj
(C) xq: gjxksfoan
(D) xq: ukud

PART-I GENERAL AWARENESS / KNOWLEDGE
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9.   Who was the regent of Akbar in his early days ?

(A) Abul Fazl (B) Bairam Khan

(C) Mansingh (D) Todarmal

10. Vikram Sarabhai Space Centre (VSSC) is located

at :

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

11. Find the HCF of 54, 288, 360 :

(A) 18 (B) 36

(C) 54 (D) 108

12. What will be the LCM of 8, 24, 36 and 54 :

(A) 54 (B) 108

(C) 216 (D) 432

13. Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :

(A) Rs. 450 (B) Rs. 524

(C) Rs. 600 (D) Rs. 624

14. Rs. 1200 is lent out at 5% per annum simple interest

for 3 years. Find out what would be the amount after

3 years ?

(A) Rs. 1380 (B) Rs. 1290

(C) Rs. 1470 (D) Rs. 1200

15. Rs. 2100 is lent out at compound interest of 5% per

annum for 2 years. Find out what would be the

amount after two years:

(A) Rs. 2300 (B) Rs. 2315.25

(C) Rs. 2310 (D) Rs. 2320

16. If CANDLE is written as EYPBNC, in certain code

then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HJCKGQ (D) KCHJUA

9. izkjafHkd dky es vdcj dk fliglkykj dkSu Fkk\
(A) vcqy Qt+y (B) cSje[kk¡
(C) ekuflga (D) VksMjey

10. foØe lkjkHkkbZ varfj{k dsUnz dgk¡ fLFkr gS\
(A) fr#oariqje (B) eqEcbZ
(C) gSnjkckn (D) caxys#

11. 54, 288, 360  dk egÙe lekiorZd Kkr dhft;s\
(A) 18 (B) 36

(C) 54 (D) 108

12. 8, 24, 36 vkSj 54 dk y?kqre lekiorZd Kkr dhft;s\
(A) 54 (B) 108

(C) 216 (D) 432

13. 5200  :i;s dh /kujkf”k ij 6 izfr”kr okf’kZd dh nj
ls nks o’kksZ dk lk/kkj.k O;kt fdruk gksxk\
(A) 450 :i;s (B) 524 :i;s
(C) 600 :i;s (D) 624 :i;s

14. 1200 :i;s dh /kujkf”k 5 izfr”kr lk/kkj.k okf’kZd
O;kt dh nj ls rhu o’kksZ ckn fdruh gks tk;xh\
(A) 1380 :i;s (B) 1290 :i;s
(C) 1470 :i;s (D) 1200 :i;s

15. 2100 :i;s dh /kujkf”k 5 izfr”kr dh okf’kZd pØòf)
O;kt nj ls nks o’kZ ckn fdruh gks tk;xh\
(A) 2300 :i;s (B) 2315.25 :i;s
(C) 2310 :i;s (D) 2320 :i;s

16. ;fn CANDLE  dks fdlh dwV (dksM) es EYPBNC

fy[krs gSa rks FLAMES dks mlh dwV esa D;k fy[ksxs\
(A) DJYKCQ (B) HNCOGU

(C) HJCKGQ (D) KCHJUA

PART-I  ELEMENTARY MATHEMATICS
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17. Choose the correct option in the place of question

mark (?) :

2

18

162

1458

4

?

196

1372

6

30

150

750

(A) 16 (B) 28

(C) 49 (D) 54

18. In a picture on wall Ram showed an old man and

said “his son is my  son’s uncle”. How is the old

man related to Ram?

(A) Father (B) Grandfather

(C) Brother (D) Uncle

19. Choose correct option in the place of question

mark (?) :

?

7

9

10

12

14

40

50

60

(A) 3 (B) 5

(C) 8 (D) 4

20. Evaluation of 83 x 82 x 8-5 is :

(A) 1 (B) 0

(C) 8 (D) None of these

17. iz”ufpUg dks mfpr fodYi ls iwjk dhft;s %

2

18

162

1458

4

?

196

1372

6

30

150

750

(A) 16 (B) 28

(C) 49 (D) 54

18. nhokj ij yxs ,d fp= dks fn[kkdj jke us crk;k
fd bl o`) O;fä dk iq= esjs iq= dk pkpk gSA^^jke
dk o`) ls D;k lca/k gS %
(A) firk (B) izfirk
(C) HkkbZ (D) pkpk

19. iz”u (?) ds LFkku ij mfpr fodYi dk p;u
dhft;s %

?

7

9

10

12

14

40

50

60

(A) 3 (B) 5

(C) 8 (D) 4

20. 83 x 82 x 8-5 dk gy gS %
(A) 1 (B) 0

(C) 8 (D) mijksä esa dksbZ ugha

PART-I  ANALYTICAL APTITUDE, ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

21. Find odd one out :

(A) Excel (B) Mouse

(C) Desktop (D) Key

22. Find out from the given option which is different?

(A) Naga (B) Bhil

(C) Garo (D) Brahmin

23. With which sport Dibeyendu Barua is asociated?

(A) Chess (B) Football

(C) Cricket (D) Shooting

21. vlaxr dks Kkr dhft;s %
(A) ,Dlsy (B) ekml
(C) MsLdVki (D) dh

22. fn;s x;s fodYiksa esa vlaxr dk p;u dhft;s %
(A) ukxk (B) Hkhy
(C) xkjks (D) czkã.k

23. nscsUnq c#vk dk lca/k fdl [ksy ls gS\
(A) “krjat (B) QqVcky
(C) fØdsV (D) “kawfVx
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Direction : In which answer figure specified

components of key figure are found ?

24. Key Figure:

Answer Figure :

(A) (B)

(C) (D)

Direction : In Q. No. 25 and 26 a related pair of words is
provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

25. ENQUIRE : ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

26. FERRY : BOAT : :
(A) Gondola : Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 27-30) Choose the correct altenative
given to replace the Question mark (?) :

27. NUMERAL : UEALRMN : : ALGEBRA: ?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA

28. BDAC : FHEG : : NPMO : ?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS

29. FGID : OPQR : : BCDE : ?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM

30. PNLJ : IGLC  : : VTRP : ?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM

funsZ”k % dkSu lh mÙkj vkÑfr esa leL;k vkÑfr ds fo”k’V
rRo fo|eku gS\

24. leL;k vkÑfr

mÙkj vkÑfr

(A) (B)

(C) (D)

funsZ”k % iz”u la0 25 &26 esa “kCnksa dk lacaf/kr tksM+k fn;k
x;k gSA fn, x;s fodYiksa esa ls ml tksM+s dks pqfu;s
tks dSfiVy esa fn;s x;s tksMs tSlk laca/k n”kkZrk gS%

25. ENQUIRE : ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

26. FERRY : BOAT : :
(A) Gondola : Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

funsZ”k % iz”u la0 27 &30 fn;s x;s fodYiksa esa lgh fodYi
dk p;u dhft;s tks iz”u fpUg dk LFkku ys lds %

27. NUMERAL : UEALRMN : : ALGEBRA: ?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA

28. BDAC : FHEG : : NPMO : ?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS

29. FGID : OPQR : : BCDE : ?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM

30. PNLJ : IGLC  : : VTRP : ?
(A) QMKI (B) RSTU

(C) QSRC (D) RPOM
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funsZ”k iz0  31 ls 32  % fuEufyf[kr okD;ksa esa ftl va”k
esa =qfV gS] mls fpfàr dhft,%

31.

(A) izÑfr dh lkSna;Zrk
(B) fdl dk eu
(C) ugha gj ysrh
(D) dksbZ =qfV ugha

32.

(A) lTtuks ls fe=rk
(B) j[kus ls
(C) “kkafr feyrh gS
(D) dksbZ =qfV ugha

33. ^T;s’B^ dk foykse “kCn gS%
(A) y?kq (B) Nksvk
(C) vuqt (D) dfu’B

34. ^vieku^ dk foykse “kCn gS%
(A) ekuo (B) vlqj
(C) izfl) (D) lEeku

35. ^va”k^ dk i;kZ;okph “kCn ugha gS %
(A) vo;o (B) vax
(C) val (D) i{k

36. ^dey^ dk i;kZ;okph “kCn ugha gS %
(A) iadt (B) lkSjHk
(C) tyt (D) dat

37. ^gkFk dk eSy^ ls vFkZ gS %
(A) esgur dh dekbZ (B) lgt izkIr oLrq
(C) vR;Ur rqPN oLrq (D) ijekRek dh nsu

38. ^”kojh ds csj^ dk vFkZ gS%
(A) Hkfä&Hkkouk ls nh gqbZ HksaV
(B) nku nsuk
(C) twBk Hkkstu djkuk
(D) viZ.k djuk

39. ^tks tUe ls va/kk gS^ mlds fy, ,d “kCn
dkSu&lk gS\
(A) lwjnkl (B) tUeka/k
(C) /k̀rjk’Vª (D) u”oj

40. ^tks ns[kus eas fiz; yxrk gS^ ds fy, ,d “kCn
dkSu&lk gS\
(A) vkd’kZd (B) eueksgd
(C) fiz;n”khZ (D) ikjykSfdd

PART-I  HINDI
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Direction (31-32) : From the given alternatives in each

question, select the word which is opposite in

meaning of the underlined word :

31. Fluent :

(A) Inappropriate (B) Halting

(C) Degrading (D) Insensitive

32. Reluctant:

(A) Hesitant (B) Reserved

(C) Anxious (D) Willing

Directions (33-34) : In each of the following questions, a

part of the sentence is printed in bold. Below are

given alternatives to the bold part at (A), (B), (C)

which may improve the sentence. Choose the correct

alternative. In case no improvement is needed your

answer is (D) :

33. I brushed my teeth every day at 7 O’clock in

the morning :

(A) I brushes my teeth every day at 7 O’clock in

the morning

(B) I brush my teeth every day at 7 O’clock in the

morning

(C) I brush my tooth every day at 7 O’clock in the

morning

(D) No improvement

34. Only me I can solve the problem :

(A) Only me can

(B) Only I can

(C) I can only

(D) No improvement

Directions (35 -36) : In each of the following questions,

there are four different words out of which one is

correctly spelt. Find the correctly spelt word :

35.

(A) Saimultaneous

(B) Simultaenous

(C) Simultaneous

(D) Simultanious

36.

(A) Fortuneate (B) Fortuneit

(C) Forchunate (D) Fortunate

Directions (37-38) : In the following questions, some parts

of the sentences have errors and some have none.

Find out which part of a sentence has an error. If a

sentence is free from error, then your answer is (D),

i.e. No Error :

37. (A) She has not completed

(B) her course

(C) Isn’t is

(D) No error

38. (A) Every citizen is

(B) Entitled to

(C) The voting

(D) No error

Directions (39-40) : In each of the following questions,

sentences are given with blanks to be filled in with

an appropriate word(s). Four alternatives are

suggested for each question. Choose the correct

alternative as your answer :

39. She is ......... of lizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

40. The priest was innocent ...................... he could not

prove it :

(A) and (B) but

(C) for (D) so

PART-I  ENGLISH
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PART-II ELECTRICIAN

41. When more than one equipment is to be earthed :

(A) Parallel connection should invariably be used
(B) Series connection should invariably be used
(C) Either (A) or (B)
(D) None of the above

42. Fuse is always connected :
(A) In series with the circuit to be protected
(B) In parallel with the circuit to be protected
(C) Either (A) or (B)
(D) None of the above

43. The material used for fuse must have :
(A) Low melting point and low specific resistance
(B) Low melting point and high specific resistance
(C) High melting point and low specific resistance
(D) Low melting point with any specific resistance

44. Magnetic flux has the unit of :
(A) Newton (B) Ampere turns
(C) Coulomb (D) Weber

45. The Right hand rule for determining the direction
of induced emf enunciated by :

(A) Faraday (B) Loz
(C) Fleming (D) Maxwell

46. From economy point of view, mostly the wiring
employed in residential building is :
(A) Cleat wiring
(B) Casing-capping wiring
(C) C.T.S. wiring
(D) Conduit wiring

47. How many coils are required in a Megger :
(A) One (B) Two
(C) Three (D) Four

48. The wattmeter :
(A) Has three connections two of which are used at

a time
(B) Can measure dc power output but not 60 c/s.

a.c power
(C) Has voltage and current coils to measure the

real power
(D) Only measure apparent power

41. tc ,d ls vf/kd midj.k fo|qr ifjiFk dks i`Foh
ls tksM+rs gS%
(A) fLFkj lkekarj laca/k mi;ksx djus pkfg,
(B) fLFkj Js.kh laca/k mi;ksx djus pkfg,
(C) (A) ;k (B)
(D) buesa ls dksbZ ugha

42. ¶;wt+ ges”kk tqM+rk gS %
(A) ml Js.kh esa tgk¡ ifjiFk lqjf{kr jgrk gS
(B) lekukarj esa tgk¡ ifjiFk lqjf{kr jgrk gS
(C) (A) ;k (B) nksuksa
(D) buesa ls dksbZ ugha

43. tks lkexzh ¶;wt+ ds fy, mi;ksx gksrh gS mlesa %
(A) de xyukad vkSj de visf{kd izfrjks/k
(B) de xyukad vkSj vf/kd visf{kd izfrjks/k
(C) vf/kd xyukad vkSj de visf{kd izfrjks/k
(D) de xyukad visf{kd izfrjks/k ds lkFk

44. pqEcdh; izokg dh bZdkbZ gS %
(A) U;wVu (B) ,Eih;j pDdj
(C) dwykWe (D) oScj

45. izsfjr emf dh fn”kk O;Dr djus esa nk,¡ gkFk fu;e dk
fu/kkZj.k djrk gS%
(A) QSjkWMs (B) ykst+
(C) ¶ysfeax (D) eSDloSy

46. vkfFkZd n`f’V ls ?kjsyw edkuksa esa vf/kdrj rkjsa yxkbZ
tkrh gS%
(A) dyhV rkjsa
(B) vkoj.k dSfix rkjsa
(C) lh Vh ,l rkjsa
(D) ikbiykbu rkjsa

47. eSxj esa fdruh dk;¡y gksrh gS%
(A) ,d (B) nks
(C) rhu (D) pkj

48. okWVehVj %
(A) okWVehVj ds rhu laca/k gS] ,d le; esa nks

mi;ksx gksrs gS
(B) fctyh mRiknu dks ekirk gS] ,-lh- dh 60 c/s

ikoj dks NksM+ dj
(C) oksYVst+ vkSj djaV okyh rkjsa okLrfod “kfDr

ekius ds fy, gksrh gS
(D) dsoy izR;{k “kkfDr ekirs gS



10ELECTRICIAN-05 SET-A

49. The dynamometer wattmeter can be used to

measure :

(A) a.c power

(B) d. c power

(C) a.c or d  power

(D) a.c power in only circuits

50. The controlling torque in an indicating instrument :

(A) Brings the pointer back to the zero position

when instrument is disconnected

(B) Controls the diflection and tries to stop the

pointer at its final position where diflecting

torque is equal to controlling torque

(C) Reduces the oscillations of pointer and quickly

brings the pointer to its final position

(D) Both (A) and (B)

51. The two laws that forms the basis of circuit

analysis were enunciated by :

(A) Faraday (B) Ohm

(C) Bohr (D) Kirchoff

52. Maximum speed of a synchronous machine for 50

H
z
 :

(A) 1500 r.p.m. (B) 3000 r.p.m.

(C) 20000 r.p.m. (D) 3000 r.p.m.

53. When a conductor is moved inside a uniform

magnetic field :

(A) It experiences a force

(B) An emf is induced

(C) A current flows through it

(D) A flux is produced

54. The rotor of squirrel cage induction motor is

skewed because :

(A) It reduces humming thus ensures quite running

(B) It results in a smoother torque curves

(C) It reduces the magnetic locking of stator and

rotor

(D) All of above

49. MkbuksehVj okVehVj ekius ds fy, mi;ksx dj
ldrs gS%
(A) ,-lh- ikoj
(B) Mh-lh- ikoj
(C) ,-lh- vkSj Mh-lh ikoj
(D) ,-lh- ikoj dsoy 1-  lfdZV esa

50. lwpd ;a= esa fu;a=.k gksrk gS%
(A) tc ;a= dk laca/k gVk fn;k tkrk gS rks lwpd

“kwU; fLFkfr esa vk tkrk gS
(B) fo{ksi.k fu;=a.k mldh vafre fLFkfr ij fu;a=.k

djrk gS vkSj lwpd can djus dh dksf”k”k djrk
gS tgk¡ vk?kw.kZ cy ds fu;=ad ls fo{ksfir vk?kw.kZ
cy cjkcj gks

(C) lwpd dk nkSyu de vkSj rst djrk gS vkSj
lwpd dks vafre fLFkfr esa ykrk gS

(D) (A) vkSj (B) nksuksa

51. fo|qr ifjiFk ds vk/kkj dk fo”ys’kd O;Dr djus
esa nks fu;e cukrs gS%
(A) QSjkWMs (B) vksg~e
(C) cksgj (D) fdjpkWQ

52. vf/kdre pky ,d fludksjksul e”khu ds fy,
50 H

z
  ij gS %

(A) 1500 vkj-ih-,e- (B) 3000 vkj-ih-,e-
(C) 20000 vkj-ih-,e- (D) 3000 vkj-ih-,e-

53. tc ,d pkyd leku pqcdh; {ks= esa tkrk gS rks %
(A) cy dk vuqHko djrk gS
(B) izsfjr gksrk gS
(C) fo|qr /kkjk cgrh gS
(D) fo|qr izokg mRiUu gksrk gS

54. Ldok;y dst ?kw.kZda izjs.k eksVj frjNk gksrk gS
D;kssfd %
(A) xquxqukgV dks de djrk gS rkfd vklkuh ls

py lds
(B) og ifj.kke nsrk gS ,d lery v/kw.kZ eksM+ ij
(C) og LVkVZj ds pqacdh; izHkko vkSj v/kw.kZ dks de

djrk gS
(D) fn, x, lHkh
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55. The alternating current system was put into

practical use in :

(A) 1820 (B) 1880

(C) 1866 (D) 1896

56. A direct current of 1 ampere flowing through a

resistance an alternating circiut current flows through

the resistance,  of heat is produced by :

(A) Maximum current

(B) Effective current

(C) Average current

(D) None of these

57. The root mean square value of an alternating

quantity is another name for its :

(A) Instataneous value

(B) Peak value

(C) Effective value

(D) Average value

58. The form factor of alternating quanity is given by :

(A) Average value/RMS value

(B) Average value/Maximum value

(C) RMS/value/Average value

(D) RMS value/Maximum value

59. Blinking of fluorescent tube may be due to :

(A) Low circuit voltage

(B) Low ballast rating

(C) Low temperature

(D) Any of the above

60. The safety fuse should have :

(A) High resistance and high melting point

(B) High resistance and low melting point

(C) Low resistance and high melting point

(D) Low resistance and low  melting point

61. A transformer with output of 250 KVA at 3000 V,

has 600 turns on its primary side and 60 tums on

the secondary winding. What will be the voltage at

primary side :

(A) 300 V (B) 30000 V

(C) 30 V (D) 3 x 105 V

55. foijhr fo|qr /kkjk iz.kkyh dks iz;ksxkRed iz;ksx es
dc yk;k x;k gS%
(A) 1820 (B) 1880

(C) 1866 (D) 1896

56. ,d ,Eih;j dh lh/kh fo|qr /kkjk ,d izfrjks/k esa  cg
dqN ek=k] Å’ek dh mRiUu djrh gSA ;fn fdlh
foijhr fo|qr ifjiFk esa fo|qr/kkjk izfrjks/k esa ls cgrh
gS rks leku Å’ek dh ek=k gksrh gS%
(A) vf/kdre /kkjk izokg
(B) izHkkfor /kkjk }kjk
(C) vkSlr /kkjk }kjk
(D) buesa ls dksbZ ugha

57. oxZewy dk vfHkizk; gS foijhr ek=k dk oxZ dk
eku nwljs uke ls tkuk tkrk gS %
(A) rkRdkfyd eki
(B) vf/kdre eku
(C) izHkkfor eku
(D) vkSlr eku

58. foijhr ek=k dh ?kVd fof/k fuEu ds }kjk nh tkrh gS%
(A) vkSlr eku@RMSeku
(B) vkSlr eku@vf/kdre eku
(C) vkj-,l-,l eku@vkSlr eku
(B) vkj-,l-,l eku@vf/kdre eku

59. izfrnhIr V;wc ds >idus dk dkj.k gS %
(A) de oksYVst fo|qr ifjiFk
(B) de foLQksVd nj
(C) de rkieku
(D) buesa esa ls dksbZ Hkh

60. lqj{kk Q;wt+ gksuk pkfg, %
(A) mPp izfrjks/kdrk vkSj mPp xyukad
(B) mPp izfrjks/kdrk vkSj de xyukad
(C) de izfrjks/kdrk vkSj mPp xyukad
(D) de izfrjks/kdrk vkSj de xyukad

61. ,d VªkalQkeZj ftldk mRiknu 250 KVA 3000 V,

oksYV ij izkFkfed igyw esa 600 pDdj vkSj fnR;d
igyw ds ?kqeko esa 60 pDdj gS A izkajfHkd igyw dk
oksYVst+ D;k gksxk %
(A) 300 oksYV (B) 30000 oksYV
(C) 30 oksYV (D) 3 x 105 oksYV
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62. An ordinary tube light used for lighting purpose

contains:

(A) Fluorescent material and inert gas

(B) One filament, reflective material and mercury

vapour

(C) Fluorescent material and mercury vapour

(D) Two filaments, fluorescent material and

mercury vapour

63. The eddy current losses in the transformer occurs

in the :

(A) Primary winding (B) Core

(C) Secondary winding (D) None of these

64. The condition for maximum efficiency of the

transfomer is that :

(A) Copper losses are half the iron losses

(B) Copper losses are equal to the square of the

iron losses

(C) Copper losses are equal to the iron losses

(D) Copper losses are zero

65. Copper as conductor for cables is used as :

(A) Hard dram

(B) Annealed

(C) Hardened & tempered

(D) Alloy with chromium

66. The segments of the commutator of a D.C machine

are insulated from each other by :

(A) Rubber (B) Porcelain

(C) Mica (D) Varnish

67. Which of the following motor has high starting

torque:

(A) d.c. shunt motor (B) d.c. series motor

(C) Both (A) and (B) (D) None of the above

68. The number of parallel paths in wave wound

armature are :

(A) Equal to the number of poles of the machine

(B) Equal to two, irrespective of the number of poles

(C) Equal to number of communtator segments

(D) Equal to number of armature conductors

62. ,d lk/kkj.k V;wc ykbV ds fy, mi;ksx esa ykbZ
tkrh gS%
(A) nhIr lkexzh vkSj vfØe xSl
(B) ,d rarq] ijorZu lkexzh vkSj ejdjh ok’i
(C) nhIr lkexzh vkSj ejdjh ok’i
(D) nks rarq nhIr lkexzh vkSj ejdjh ok’i

63. VªkalQkeZj esa ,Mh djUV gkuh dgk¡ gksrh gS%
(A) izkFkfed izokg (B) dsUnz Hkkx
(C) f}R;d izokg (D) buesa ls dksbZ ugha

64. VªkalQkeZj dh lcls vf/kd {kerk okyh fLFkfr gS%
(A) rk¡cs dh gkfu yksgs dh gkfu dk vk/kk gS
(B) ,d oxZ yksgs dh gkfu cjkcj gS rk¡cs dh gkfu ds
(C) rk¡cs dh gkfu cjkcj gS yksgs dh gkfu ds
(D) rk¡cs dh gkfu “kwU; gS

65. fctyh dh rkjksa esa dkWij pkyd ds :i esa iz;ksx
fd;k tkrk gS %
(A) etcwr vk;ru
(B) ,fu;kysM (rkikuq”khfrr)

(C) dM+kiu ,oa yphykiu (/kkrq dks xje o BM+k
djds dBksj vkSj yphyk cukuk)

(D) feJ/kkrq Øksfe;e ds lkFk

66. fLop dk og Hkkx ftlls fo|qr /kkjk dh fn”kk cny
nh tkrh gS] ,d &nwljs ls jksf/kr gksrh gS%
(A) jcM+ (B) isklZfyu
(C) ekbdk (D) ofuZ”k

67. fuEufyf[kr esa dkSu lh eksVj esa lcls vf/kd
vk?kw.kZ cy gS%
(A) Mh-lh- “kaV eksVj (B) Mh-lh- J`a[kyk eksVj
(C) (A) vkSj (B) nksuksa (D) buesa ls dksbZ ugha

68. ,d rjax esa lekukadj iafDr dh la[;k (armature)

vkesZpj dks ?kqekrh gS
(A) e”khu ds /kqozks dh la[;k ds leku
(B) nsk leku bjsZLisfDVo iksy dh la[;k ds leku
(C) dE;waVsVj  izjs.k dh la[;k ds leku
(D) vkesZpj [kaM dh la[;k ds leku
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69. Which of the following motor is used to drive. The

constant speed line shafting, lathes, blowers and

fan?

(A) d.c. shunt motor

(B) d.c. series motor

(C) Comulative compound motor

(D) None of the above

70. In a D.C. machine iron losses occur in :

(A) The yoke (B) The pole shoe

(C) The armature (D) The field

71. In a balanced 3-phase, star connected system, the

relation between phase voltage (V
ph

) and line

voltage (V
L
) is :

(A) Lph VV 3

(B) V
Ph

=0.577 V
L

(C)
2
L

Ph

V
V 

(D) None of the above

72. A 3-Phase load is said to be balanced load, if all

the three phase have the same :

(A) Impedance

(B) Power factor

(C) Both (A) and (B)

(D) None of the above

73. In two wattmeter method of 3-phase power

measurement in balanced load having 0.5 P.F

lagging :

(A) One watt meter reads zero

(B) One watt meter reads down scale

(C) Both the watt meter read equally

(D) Both the watt meter give equal but opposite

readings

74. The stability of arc in vaccume depends upon the :

(A) Contact meterial only

(B) Contact material and vapour pressure

(C) Circuit parameters only

(D) Combination of (B) and (C)

69. ,d fLFkj pky esa dkSu lh eksVj mi;ksx es ykbZ tkrh
gS eksVj dk MaMk] [kjkn e”khu] /kkSduh vkSj ia[kk
pykus es %
(A) Mh-lh- “kaV eksVj
(B) Mh-lh- J`a[kyk eksVj
(C) la;qDr ;kSfxd eksVj
(D) buesa ls dksbZ ugha

70. Mh-lh- e”khu esa yksgs dh gkfu mRiUu gksrh gS%
(A) ;ksd (B) /kzqo ij
(C) vkesZpj ij (D) {ks= ij

71. ,d larafyr 3& Qst esa LVkj lacaf/kr ;a=] Qst
oksYVst (V

ph
) vkSj ykbZu oksYVst+ (V

L
) esa laca/k gS%

(A) Lph VV 3

(B) V
Ph

=0.577 V
L

(C)
2
L

Ph

V
V 

(D) buesa ls dksbZ ugha

72. ,d 3& Qst+ Hkkj larqfyr Hkkj dgk tkrk gS ;fn lHkh
rhu Qst leku gks %
(A) izfrck/kk (;fn lfdZV esa foijhr fo|qr /kkjk

gks)
(B) fo|qr /kkjk dh lekurk
(C) (A) vkSj (B) nksuksa
(D) buesa ls dksbZ ugha

73. nks okWVehVj ;qfDr esa 3&Qst “kfDr ekih tkrh gS 0.5

P.F okys lraqfyr Hkkj esa %
(A) ,d okWVehVj dh f=T;k ij
(B) ,d okWVehVj Ldsy ij
(C) nksuksa okWVehVjksa dks cjkcj i<+k tk ldrk gS
(D) nksuksa okWVehVj cjkcj ijarq foijhr ikBk;kad

nsrs gS

74. fuokZr esa pki dh fLFkjrk fuHkZj djrh gS%
(A) dsoy lacaf/kr lkexzh ij
(B) lacaf/kr lkexzh vkSj ok’o nkc ij
(C) dsoy fo|qr ifjiFk ds ekinaM ij
(D) (B) vkSj (C) dk lfeJ.k
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75. The order of the lightning discharge current is :

(A) 10000 amp (B) 100 amp

(C) 1 amp (D) 1 micro amp

76. Phosphor bronze alloy is used for springs in

indicating instruments because the alloy has :

(A) Low resistance to fatigue

(B) Good magnetic property

(C) Low specific resistance

(D) High temperature coefficient of expansion

77. Rotor resistance starters are used with wound

rotor induction motor. When the motor is running

the resistance in the starter are :

(A) Open circuited

(B) Connected in star

(C) Shorted

(D) Connected in delta

78. While finding solution of AC circuit, vector

quantities are added or subtracted. One of the

method to solve these vector quantities is :

(A) Parallelogram method

(B) Scalar method

(C) Algebric method

(D) Numerical method

79. Before varnishing a newly wound motor, the

winding must be preheated. What is the purpose of

preheating :

(A) To help the varnish spreading easily

(B) To ensure that the winding can withstand that

temperature while working

(C) To drive out the moisture in between the wires

and layers

(D) To remove air in between wires and layers for

easy flow of varnish

80. On inspection, the commutator of a DC generator

was found badly worn out. Sand papering is of no

use. The best thing to do is to :

(A) Turn the commutator on a lathe

(B) Clean the commutator with CTC

(C) Replace the commutator

(D) Replace the armature

75. rfM+r izokg fo|qr/kkjk dk fMlpkZt fdruk gksrk gS%
(A) 10000 vika;j (B) 100 vika;j
(C) 1 vika;j (D) 1 ekbØks & vika;j

76. QkLQksj czksta /kkrq lwpd ;a= esa fLizax ds fy, iz;ksx
esa ykbZ tkrh gS D;ksafd %
(A) de izfrjks/k
(B) mÙke pqacdh; xq.k
(C) de visf{kr izfrjks/k
(D) vf/kd rki xq.kd ds foLrkj

77. ?kqekonkj v?kw.kZ izjs.k eksVj esa v?kw.kZ izfrjks/k LVkVZj
mi;ksx esa yk, tkrs gSA tc eksVj izfrjks/k ls pyrh
gS rks LVkVZj gksrs gS %
(A) [kqys fo|qr ifjiFk
(B) LVkj esa tqM+us ls
(C) “kkWV lfdZV
(D) MsYVk ls tqM+us okys

78. ,-lh- fo|qr ifjiFk dk gy <w¡<us ls lfna”k xq.k tqM+rs
vkSj ?kVrs gSA lafn”k xq.k dk gy fudkyus dk ,d
rjhdk gS %
(A) lekUrj prqHkZth; rjhdk
(B) vfn”k rjhdk
(C) chtxf.kr; rjhdk
(D) vadu rjhdk

79. ubZ ?kqekonkj eksVj dh ofuZf”kax ls igys okbfMax dks
xeZ djuk pkfg,A bl dk mís”; gS
(A) ofuZ”k Lora=rk ls QSykus esa enn djs
(B) ;g lqfuf”pr djsa fd dk;Z ds nkSjku okbfMax

rki ds lkFk Bgjrh gS
(C) rkjksa vkSj ijrksa ds e/; dh ueh fudkyrs gS
(D) ofuZ”k ds cgko ds fy, rkjksa vkSj ijrksa esa ls

gok gVkrs gS

80. fujh{k.k ds nkSjku Mh-lh- tujsVj dk fnDifjorZd
cqjh n”kk esa ik;k x;kA jsxekWy dk dksbZ mi;ksx ughs
gSA blds fy, lcls mÙke fof/k gS%
(A) fnDifjorZd dks [kjkn dh e”khu ij pykuk
(B) lh-Vh- lh- ls fnDifjorZd dks lkQ+ djuk
(C) fnDifjorZd dks cnyuk
(D) vkesZpj dks cnyuk
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81. AC changes in value and direction periodically. This

tends to make the current flow along the outer

surface of the conductor. This phenomenon is know

as :

(A) Maxwell’s effect

(B) Eddy current effect

(C) Hystereris effect

(D) Skin effect

82. You have to change the defective motor of an

electric locomotive. Which type of motor would you

choose?

(A) DC shunt motor

(B) Separately excited motor

(C) DC differential compound motor

(D) DC series motor

83. Which one of the following is not applicable to

capacitor type table fan motor ?

(A) Auxiliary winding

(B) Shading ring

(C) Main winding

(D) Condenser

84. One of the reason for charging penalty for drawing

power at low PF is :

(A) Line voltage and frequency drops

(B) Current drawn from mains will be higher

(C) Power drawn by the consumer will be less

than the senctioned power

(D) Energy meter will run slow indicating lower

power consumption

85. The maximum value of sine wave AC voltage is

10V. What is the rms value :

(A) 1.732 V (B) 7.070 V

(C) 3.142 V (D) 1.414 V

86. Breather-DC-hydrating material used inside to

prevent moisture entering the transformer is :

(A) Copper sulphate

(B) Sodium chloride

(C) Sodium Sillicate

(D) Sillica gel

81. ,-lh- dk eku vkSj fn”kk le;&le; ij cnyrk gS
;g pkyd dh Hkkjh ijr fo|qr ds izokg esas lgk;d
gksrh gSA ;g rF; dgykrk gS%
(A) eSDloSy izHkko
(B) ,Mh fo|qr /kkjk izHkko
(C) fgfLVªfll izHkko
(D) Ropk izHkko

82. ;fn vkidks fo|qrh; batu dh eksVj cnyuh gSA vki
fdl izdkj dh eksVj dk p;u djsaxs %
(A) Mh-lh- vyx /kdsyus okyh eksVj
(B) mÙkstuk eksVj
(C) Mh-lh- vraj ;kSfxd eksVj
(D) Mh-lh- J`a[kyk eksVj

83. fuEu esa dkSu lk dSisflVj est] ia[kk vkfn dh eksVj
ds fy, mi;qDr ugha gksrk %
(A) ?kqekonkj okbfMax
(B) “ksfMax okbfMax
(C) eq[; okbfMax
(D) daMsulj

84. fuEu PF ij “kfDr cgkus gsrq izHkkjh naM dk ,d
dkj.k gS %
(A) ykbu oksYVst+ vkSj vko`fr cw¡nsa
(B) tks fo|qr izeq[k (esu) esa cgrh gS] og vf/kd

gksxh
(C) miHkksDrk ls izkIr dh xbZ “kfDr LohÑfr “kfDr

ls de gksxh
(D) mtkZ ehVj de nkSM+rk gS vkSj de “kfDr

[kir n”kkZrk gS

85. Sine rjax dk vf/kdre eku ,-lh- okWYVst 10V gSA
rms eku D;k gksxk %
(A) 1.732 V (B) 7.070 V

(C) 3.142 V (D) 1.414 V

86. czhnj&Mh-lh- gkbMªsfVax lkexzh VªklQkeZj ds vanj
ueh dks tkus ls jksdus esa mi;ksx dh tkrh gS%
(A) dkWij lYQsV
(B) lksfM;e DyksjkbM
(C) lksfM;e flfydsV
(D) flfydk tSy
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87. Instruments which must not be used in the circuit

when the power is on :

(A) Ohm meter and Megger

(B) Phase sequence meter and energy meter

(C) Frequency meter and tong tester

(D) Wattmeter and PF meter

88. The motors used for electric clocks and timing

devices are :

(A) Self excited single phase synchronous motor

(B) External excited single phase synchronous

motor

(C) Non-excited single phase synchronous motors

(D) Saprately excited single phase synchronous

motor

89. Potential transformers are used to connect :

(A) Voltmeters to the primary of transformer

(B) Intruments to bus bar of distribution panel

(C) Voltmeters to high voltage lines

(D) Energy meters to low voltage lines

90. A 10-Volt coil has a resistance of 25 . The coil

was re-wound with 0.224 mm dia wire which has

0.45   per meter. The length of wire used is 50m.

What is the change in resistance of re-wound coil?

(A) 6.5  (B) 4.5 

(C) 2.5  (D) 9.5 

91. On a overhauling operation it was found that the

motor is equiped with ‘sealed’ bearings. The

bearings will require :

(A) Lubrication at intervals of 6 months

(B) Lubrication at intervals of 1 month

(C) No Lubrication during its life service

(D) Lubrication at interval of  one year

87. tc fo|qr /kkjk fujraj cg jgh gks rks fo|qr ifjiFk

esa fdl ;a= dk mi;ksx ugh djuk pkfg, %

(A) vksge ehVj vkSj eSxj

(B) Qst+ Øfed ehVj vkSj mtkZ ehVj

(C) vko`fr ehVj vkSj fpeVk ijh{k.k

sa (D) okWVehVj vkSj ih-,Q-ehVj

88. fo|qrh; ?kM+h vkSj le; midj.k ds fy, eksVj

mi;ksx dh tkrh gS

(A) Lo mÙksftr ,dy Qst eksVj

(B) ckgjh mÙksftr ,dy Qst eksVj

(C) xSj mÙksftr ,dy Qst eksVj

(D) i`Fkd mÙksftr ,dy Qst eksVj

89. fLFkfrt VªkalQkeZj dk mi;ksx fd;k tkrk gS] tksM+us

esa %

(A) oksYVehVj dk izkbejh VªkalQkeZj ds lkFk

(B) forj.k iSuy dk ^cl ckj ;a=^

(C) vf/kd oksYVst ykbu okys oksYVehVj

(D) de oksYVst ykbu okys oksYVehVj

90. ,d 10 oksYV dh daqMyh dk izfrjks/k 25  gSA

dqaMyh dks nqckjk 0.224 mm ds O;kl dh rkj ls

?kqek;k x;k tks 0.45   izfr0eh0 gS 50 eh0 rkj

dh yEckbZ iz;ksx dh xbZA iqu% ?kqekonkj dqaMyh ds

izfrjks/k esa cnyko vk,xk %

(A) 6.5  (B) 4.5 

(C) 2.5  (D) 9.5 

91. ehVj ds vksoj gkWfyax vkWizs”ku esa ik;k x;k fd

eksVj lhy fc;fjax ls lfTtr gSA fc;fjax dh

vko”;drk gksxh %

(A) Ng eghus ds varjky esa rsy Mkyuk

(B) ,d eghus ds varjky esa rsy Mkyuk

(C) bldh iwjh ftnaxh rsy u Mkyuk

(D) ,d lky ds varjky esa rsy Mkyuk
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92. You are testing a power capacitor using Ohm meter.

The capacitor is in good condition only when the

pointer moves to :

(A) Zero and then slowly to infinity position
(B) Infinity position and remain there
(C) Zero position and remain there
(D) Infinity position and then to zero position

93. Sweep of ceilling fan refers to :
(A) Double the distance from center of motor to tip

of blade
(B) The distance from centre of motor to tip of blade
(C) Double the length of blade
(D) Radius of circle formed by its rotation

94. The resistance of a conductor of diameter ‘d’ and

length ‘ ’ is ‘R’ Ohms. If the diameter of the

conductor is halved and its length is doubled, the
resistance of the conductor is :
(A) R Ohms (B) 2 R Ohms
(C) 4R Ohms (D) 8 R Ohms

95. The resistivity of the conductor depends on the  :
(A) Area of conductor
(B) Length of the conductor
(C) Type of material

(D) None of these

96. The current flowing in a series circuit having four
equal resistors is I amperes. What is the magnituds
of the current if 4 resistances are connected in
parallel ?
(A) 0.25I (B) I
(C) 4I (D) 8I

97. A capacitor carries a charge of 0.15 C at 10V. Its
capacitance is :
(A) 0.015F (B) 1.5F
(C) 1.5 F (D) None of these

98. To obtain a high value of capacitance the
permitivity of the dielectric material should be :
(A) Low (B) Medium
(C) High (D) That of air

99. One Farad is equal to :

(A) 1 (B) 1 V/C
(C) 1C/V (D) None of these

92. vki vksg~e ehVj ds }kjk la?kkfj= dh “kfDr dk
ijh{k.k dj jgs gSA la?kkfj= vPNh fLFkfr esa rHkh
jgrk tc lwpd pyrk gS%
(A) “kwU; ,oa /khjs ls vuar fLFkfr rd
(B) vuar fLFkfr vkSj “ks’k
(C) “kwU; fLFkfr vkSj “ks’k
(D) vuar fLFkfr vkSj “kwU; fLFkfr rd

93. Nr okys ia[ks dk pDdj ladsr djrk gS%
(A) eksVj ds dsanz vkSj CysM ds “kh’kZ ls nqxquh nwjh
(B) eksVj ds dassnz vkSj CysM ds “kh’kZ ls nwjh
(C) CysM dh yackbZ dk nqxq.kk
(D) mlds ,d pDDj ls o`r dh f=T;k curh gS

94. ,d fo|qr pkyd dk izfrjks/k ftldk O;kl ‘d’

vkSj ‘  ’ yackbZ vkSj izfrjks/k ‘R’ vksg~e gS ;fn dk
O;kl vk/kk dj ns rks fo|qr pkyd dk izfrjks/k
gS %
(A) R vksg~e (B) 2 R vksg~e
(C) 4R vksg~e (D) 8 R vksg~e

95. fdlh fo|qr pkyd dh izfrjks/kdrk fuHkZj djrh gS%
(A) pkyd ds {ks=Qy ij
(B) pkyd dh yackbZ ij
(C) lkexzh ds izdkj ij
(D) buesa ls dksbZ ugha

96. ,d ,Eih;j ds pkj cjkcj izfrjks/k eas Js.kh ifjiFk
ij fo|qr /kkjk cg jgh gSA ;fn 4 izfrjks/k
lkekUrj tksM+rs gS rks fo|qr /kkjk dk ifjeku gksxk%
(A) 0.25I (B) I
(C) 4I (D) 8I

97. ,d la?kkfj= esa 10V esa 0.15 C vkos”k cgrk gS]
mldh /kkfjrk gS %
(A) 0.015F (B) 1.5F

(C) 1.5 F (D) buesa ls dksbZ ugha

98. la?kkfj= dk mPp eku izkIr djus ds fy, <k¡drk
gqvk vlokgd inkFkZ gksuk pkfg, %
(A) fuEu (B) e/;e
(C) mPp (D) gok ds dkj.k

99. ,d QSjkWM cjkcj gS%

(A) 1 (B) 1 V/C
(C) 1C/V (D) buesa ls dksbZ ugah
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100. The unit of resistivity is :

(A)  (B)  /m

(C)  /m2 (D)  -m

100. izfjks/kdrk dk ek=d gS %

(A)  (B)  /m

(C)  /m2 (D)  -m
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1. The Territorial Army was established in :

(A) 1962 (B) 1948

(C) 1920 (D) 1953

2.     Bijapur is known for  :

(A) Severe drought Area

(B) Gol Gumbaz

(C) Heavy rainfall Area

(D) Statue of Gomateswara

3. Light from the Sun reaches us in nearly :

(A) 2 minutes (B) 4 minutes

(C) 8 minutes (D) 16 Seconds

4. Who among the following is present Chief Minister

of Manipur?

(A) Trivendra Singh Rawat

(B) N. Biren Singh

(C) Kiran Jiju

(D) Marry Kom

5. Which one of the following is not included while

estimating National Income through income method?

(A) Rent (B) Mixed incomes

(C) Pension (D) Undistributed profits

6. The ‘Akaal Takht’ was built by :

(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

7.   Who was the regent of Akbar in his early days ?

(A) Abul Fazl (B) Bairam Khan

(C) Mansingh (D) Todarmal

8. Vikram Sarabhai Space Centre (VSSC) is located

at :

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

1. VsjhVksfj;y vkehZ dh LFkkiuk dc gq;h Fkh\
(A) 1962 (B) 1948

(C) 1920 (D) 1953

2. chtkiqj fdlds fy;s tkuk tkrk gS\
(A) Hkh’k.k lw[kkxzLr {ks=
(B) xksy xqEcn
(C) vfr o`f’V okyk {ks=
(D) xksers”oj dh izfrek ds fy;s

3. lw;Z dk izdk”k ge rd fdruh vof/k esa igqaprk gS\
(A) 2 feuV (B) 4 feuV
(C) 8 feuV (D) 16 lsds.M

4. fuEufyf[kr esa ls euhiqj dk orZeku eq[;ea=h dkSu
gS\
(A) f=osUnz flag jkor
(B) ,u0 chjsu flag
(C) fdju ftTtw
(D) eSjh dke

5. vk; fl)kUr ij fd;s x;s vkdyu ds vuqlkj
jk’Vªh; vk; ds vuqeku esa fuEufyf[kr es ls fdldh
x.kuk ugha dh tkrh\
(A) fdjk;k (B) fefJr vk;
(C) isa”ku (D) vforfjr ykHk

6. ^vdkyr[r^ dk fuekZ.k fdlus djk;k Fkk\
(A) xq: jkenkl
(B) xq: rsxcgknqj
(C) xq: gjxksfoan
(D) xq: ukud

7. izkjafHkd dky es vdcj dk fliglkykj dkSu Fkk\
(A) vcqy Qt+y (B) cSje[kk¡
(C) ekuflga (D) VksMjey

8. foØe lkjkHkkbZ varfj{k dsUnz dgk¡ fLFkr gS\
(A) fr#oariqje (B) eqEcbZ
(C) gSnjkckn (D) caxys#

PART-I GENERAL AWARENESS / KNOWLEDGE
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11. Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :

(A) Rs. 450 (B) Rs. 524

(C) Rs. 600 (D) Rs. 624

12. Rs. 1200 is lent out at 5% per annum simple interest

for 3 years. Find out what would be the amount after

3 years ?

(A) Rs. 1380 (B) Rs. 1290

(C) Rs. 1470 (D) Rs. 1200

13. Rs. 2100 is lent out at compound interest of 5% per

annum for 2 years. Find out what would be the

amount after two years:

(A) Rs. 2300 (B) Rs. 2315.25

(C) Rs. 2310 (D) Rs. 2320

14. If CANDLE is written as EYPBNC, in certain code

then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HJCKGQ (D) KCHJUA

15. Choose the correct option in the place of question

mark (?) :

2

18

162

1458

4

?

196

1372

6

30

150

750

(A) 16 (B) 28

(C) 49 (D) 54

9. Qk#[k+ bathfu;j us viuk vafre fØdsV VsLV eSp
vius ?kjsyw&eSnku ij [ksykA fuEufyf[kr esa ls dgkW
mUgksaus viuk vfre VsLV eSp [ksyk\
(A) fnYyh (B) dydÙkk
(C) gSnjkckn (D) eqEcbZ

10. Hkkjrh; ioZrkjksg.k QkamMs”ku dk eq[;ky; dgk¡
fLFkr gS\
(A) dydÙkk (B) nkftZfyax
(C) ubZ fnYyh (D) nsgjknwu

11. 5200  :i;s dh /kujkf”k ij 6 izfr”kr okf’kZd dh nj
ls nks o’kksZ dk lk/kkj.k O;kt fdruk gksxk\
(A) 450 :i;s (B) 524 :i;s
(C) 600 :i;s (D) 624 :i;s

12. 1200 :i;s dh /kujkf”k 5 izfr”kr lk/kkj.k okf’kZd
O;kt dh nj ls rhu o’kksZ ckn fdruh gks tk;xh\
(A) 1380 :i;s (B) 1290 :i;s
(C) 1470 :i;s (D) 1200 :i;s

13. 2100 :i;s dh /kujkf”k 5 izfr”kr dh okf’kZd pØòf)
O;kt nj ls nks o’kZ ckn fdruh gks tk;xh\
(A) 2300 :i;s (B) 2315.25 :i;s
(C) 2310 :i;s (D) 2320 :i;s

14. ;fn CANDLE  dks fdlh dwV (dksM) es EYPBNC

fy[krs gSa rks FLAMES dks mlh dwV esa D;k fy[ksxs\
(A) DJYKCQ (B) HNCOGU

(C) HJCKGQ (D) KCHJUA

15. iz”ufpUg dks mfpr fodYi ls iwjk dhft;s %

2

18

162

1458

4

?

196

1372

6

30

150

750

(A) 16 (B) 28

(C) 49 (D) 54

PART-I  ELEMENTARY MATHEMATICS

9.  Farookh Engineer played his last Cricket Test match

at his home ground. Where did he play his last Test

match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

10.  The headquarter of the Indian Mountaineering

Foundation is  located at :

(A) Kolkata (B) Darjeeling

(C) New Delhi (D) Dehradun
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16. In a picture on wall Ram showed an old man and

said “his son is my  son’s uncle”. How is the old

man related to Ram?

(A) Father (B) Grandfather

(C) Brother (D) Uncle

17. Choose correct option in the place of question

mark (?) :

?

7

9

10

12

14

40

50

60

(A) 3 (B) 5

(C) 8 (D) 4

18. Evaluation of 83 x 82 x 8-5 is :

(A) 1 (B) 0

(C) 8 (D) None of these

19. Find the HCF of 54, 288, 360 :

(A) 18 (B) 36

(C) 54 (D) 108

20. What will be the LCM of 8, 24, 36 and 54 :

(A) 54 (B) 108

(C) 216 (D) 432

16. nhokj ij yxs ,d fp= dks fn[kkdj jke us crk;k
fd bl o`) O;fä dk iq= esjs iq= dk pkpk gSA^^jke
dk o`) ls D;k lca/k gS %
(A) firk (B) izfirk
(C) HkkbZ (D) pkpk

17. iz”u (?) ds LFkku ij mfpr fodYi dk p;u
dhft;s %

?

7

9

10

12

14

40

50

60

(A) 3 (B) 5

(C) 8 (D) 4

18. 83 x 82 x 8-5 dk gy gS %
(A) 1 (B) 0

(C) 8 (D) mijksä esa dksbZ ugha

19. 54, 288, 360  dk egÙe lekiorZd Kkr dhft;s\
(A) 18 (B) 36

(C) 54 (D) 108

20. 8, 24, 36 vkSj 54 dk y?kqre lekiorZd Kkr dhft;s\
(A) 54 (B) 108

(C) 216 (D) 432

PART-I  ANALYTICAL APTITUDE, ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

21. With which sport Dibeyendu Barua is asociated?

(A) Chess (B) Football

(C) Cricket (D) Shooting

Direction : In which answer figure specified components

of key figure are found ?

22. Key Figure:

Answer Figure :

(A) (B)

(C) (D)

21. nscsUnq c#vk dk lca/k fdl [ksy ls gS\
(A) “krjat (B) QqVcky
(C) fØdsV (D) “kawfVx

funsZ”k % dkSu lh mÙkj vkÑfr esa leL;k vkÑfr ds fo”k’V
rRo fo|eku gS\

22. leL;k vkÑfr

mÙkj vkÑfr

(A) (B)

(C) (D)
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Direction : In Q. No. 23 and 24 a related pair of words is
provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

23. ENQUIRE : ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

24. FERRY : BOAT : :
(A) Gondola : Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 25-28) Choose the correct altenative
given to replace the Question mark (?) :

25. NUMERAL : UEALRMN : : ALGEBRA: ?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA

26. BDAC : FHEG : : NPMO : ?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS

27. FGID : OPQR : : BCDE : ?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM

28. PNLJ : IGLC  : : VTRP : ?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM

29. Find odd one out :

(A) Excel (B) Mouse

(C) Desktop (D) Key

30. Find out from the given option which is different?

(A) Naga (B) Bhil

(C) Garo (D) Brahmin

funsZ”k % iz”u la0 23 &24 esa “kCnksa dk lacaf/kr tksM+k fn;k
x;k gSA fn, x;s fodYiksa esa ls ml tksM+s dks pqfu;s
tks dSfiVy esa fn;s x;s tksMs tSlk laca/k n”kkZrk gS%

23. ENQUIRE : ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

24. FERRY : BOAT : :
(A) Gondola : Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

funsZ”k % iz”u la0 25 &28 fn;s x;s fodYiksa esa lgh fodYi
dk p;u dhft;s tks iz”u fpUg dk LFkku ys lds %

25. NUMERAL : UEALRMN : : ALGEBRA: ?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA

26. BDAC : FHEG : : NPMO : ?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS

27. FGID : OPQR : : BCDE : ?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM

28. PNLJ : IGLC  : : VTRP : ?
(A) QMKI (B) RSTU

(C) QSRC (D) RPOM

29. vlaxr dks Kkr dhft;s %
(A) ,Dlsy (B) ekml
(C) MsLdVki (D) dh

30. fn;s x;s fodYiksa esa vlaxr dk p;u dhft;s %
(A) ukxk (B) Hkhy
(C) xkjks (D) czkã.k
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31. ^T;s’B^ dk foykse “kCn gS%
(A) y?kq (B) Nksvk
(C) vuqt (D) dfu’B

32. ^vieku^ dk foykse “kCn gS%
(A) ekuo (B) vlqj
(C) izfl) (D) lEeku

33. ^va”k^ dk i;kZ;okph “kCn ugha gS %
(A) vo;o (B) vax
(C) val (D) i{k

34. ^dey^ dk i;kZ;okph “kCn ugha gS %
(A) iadt (B) lkSjHk
(C) tyt (D) dat

35. ^gkFk dk eSy^ ls vFkZ gS %
(A) esgur dh dekbZ (B) lgt izkIr oLrq
(C) vR;Ur rqPN oLrq (D) ijekRek dh nsu

36. ^”kojh ds csj^ dk vFkZ gS%
(A) Hkfä&Hkkouk ls nh gqbZ HksaV
(B) nku nsuk
(C) twBk Hkkstu djkuk
(D) viZ.k djuk

37. ^tks tUe ls va/kk gS^ mlds fy, ,d “kCn
dkSu&lk gS\
(A) lwjnkl (B) tUeka/k
(C) /k̀rjk’Vª (D) u”oj

38. ^tks ns[kus eas fiz; yxrk gS^ ds fy, ,d “kCn
dkSu&lk gS\
(A) vkd’kZd (B) eueksgd
(C) fiz;n”khZ (D) ikjykSfdd

funsZ”k iz0  39 ls 40  % fuEufyf[kr okD;ksa esa ftl va”k
esa =qfV gS] mls fpfàr dhft,%

39.

(A) izÑfr dh lkSna;Zrk
(B) fdl dk eu
(C) ugha gj ysrh
(D) dksbZ =qfV ugha

40.

(A) lTtuks ls fe=rk
(B) j[kus ls
(C) “kkafr feyrh gS
(D) dksbZ =qfV ugha

PART-I  HINDI
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Directions (31-32) : In each of the following questions, a

part of the sentence is printed in bold. Below are

given alternatives to the bold part at (A), (B), (C)

which may improve the sentence. Choose the correct

alternative. In case no improvement is needed your

answer is (D) :

31. I brushed my teeth every day at 7 O’clock in

the morning :

(A) I brushes my teeth every day at 7 O’clock in

the morning

(B) I brush my teeth every day at 7 O’clock in the

morning

(C) I brush my tooth every day at 7 O’clock in the

morning

(D) No improvement

32. Only me I can solve the problem :

(A) Only me can

(B) Only I can

(C) I can only

(D) No improvement

Directions (33 -34) : In each of the following questions,

there are four different words out of which one is

correctly spelt. Find the correctly spelt word :

33.

(A) Saimultaneous

(B) Simultaenous

(C) Simultaneous

(D) Simultanious

34.

(A) Fortuneate (B) Fortuneit

(C) Forchunate (D) Fortunate

Directions (35-36) : In the following questions, some parts

of the sentences have errors and some have none.

Find out which part of a sentence has an error. If a

sentence is free from error, then your answer is (D),

i.e. No Error :

35. (A) She has not completed

(B) her course

(C) Isn’t is

(D) No error

36. (A) Every citizen is

(B) Entitled to

(C) The voting

(D) No error

Directions (37-38) : In each of the following questions,

sentences are given with blanks to be filled in with

an appropriate word(s). Four alternatives are

suggested for each question. Choose the correct

alternative as your answer :

37. She is ......... of lizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

38. The priest was innocent ...................... he could not

prove it :

(A) and (B) but

(C) for (D) so

Direction (39-40) : From the given alternatives in each

question, select the word which is opposite in

meaning of the underlined word :

39. Fluent :

(A) Inappropriate (B) Halting

(C) Degrading (D) Insensitive

40. Reluctant:

(A) Hesitant (B) Reserved

(C) Anxious (D) Willing

PART-I  ENGLISH
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PART-II ELECTRICIAN

41. The two laws that forms the basis of circuit

analysis were enunciated by :

(A) Faraday (B) Ohm

(C) Bohr (D) Kirchoff

42. Maximum speed of a synchronous machine for 50

H
z
 :

(A) 1500 r.p.m. (B) 3000 r.p.m.

(C) 20000 r.p.m. (D) 3000 r.p.m.

43. When a conductor is moved inside a uniform

magnetic field :

(A) It experiences a force

(B) An emf is induced

(C) A current flows through it

(D) A flux is produced

44. The rotor of squirrel cage induction motor is

skewed because :

(A) It reduces humming thus ensures quite running

(B) It results in a smoother torque curves

(C) It reduces the magnetic locking of stator and

rotor

(D) All of above

45. The alternating current system was put into

practical use in :

(A) 1820 (B) 1880

(C) 1866 (D) 1896

46. A direct current of 1 ampere flowing through a

resistance an alternating circiut current flows through

the resistance,  of heat is produced by :

(A) Maximum current

(B) Effective current

(C) Average current

(D) None of these

41. fo|qr ifjiFk ds vk/kkj dk fo”ys’kd O;Dr djus esa
nks fu;e cukrs gS%
(A) QSjkWMs (B) vksg~e
(C) cksgj (D) fdjpkWQ

42. vf/kdre pky ,d fludksjksul e”khu ds fy,
50 H

z
  ij gS %

(A) 1500 vkj-ih-,e- (B) 3000 vkj-ih-,e-
(C) 20000 vkj-ih-,e- (D) 3000 vkj-ih-,e-

43. tc ,d pkyd leku pqcdh; {ks= esa tkrk gS rks %
(A) cy dk vuqHko djrk gS
(B) izsfjr gksrk gS
(C) fo|qr /kkjk cgrh gS
(D) fo|qr izokg mRiUu gksrk gS

44. Ldok;y dst ?kw.kZda izjs.k eksVj frjNk gksrk gS
D;kssfd %
(A) xquxqukgV dks de djrk gS rkfd vklkuh ls

py lds
(B) og ifj.kke nsrk gS ,d lery v/kw.kZ eksM+ ij
(C) og LVkVZj ds pqacdh; izHkko vkSj v/kw.kZ dks de

djrk gS
(D) fn, x, lHkh

45. foijhr fo|qr /kkjk iz.kkyh dks iz;ksxkRed iz;ksx es
dc yk;k x;k gS%
(A) 1820 (B) 1880

(C) 1866 (D) 1896

46. ,d ,Eih;j dh lh/kh fo|qr /kkjk ,d izfrjks/k esa  cg
dqN ek=k] Å’ek dh mRiUu djrh gSA ;fn fdlh
foijhr fo|qr ifjiFk esa fo|qr/kkjk izfrjks/k esa ls cgrh
gS rks leku Å’ek dh ek=k gksrh gS%
(A) vf/kdre /kkjk izokg
(B) izHkkfor /kkjk }kjk
(C) vkSlr /kkjk }kjk
(D) buesa ls dksbZ ugha
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47. The root mean square value of an alternating

quantity is another name for its :

(A) Instataneous value

(B) Peak value

(C) Effective value

(D) Average value

48. The form factor of alternating quanity is given by :

(A) Average value/RMS value

(B) Average value/Maximum value

(C) RMS/value/Average value

(D) RMS value/Maximum value

49. Blinking of fluorescent tube may be due to :

(A) Low circuit voltage

(B) Low ballast rating

(C) Low temperature

(D) Any of the above

50. The safety fuse should have :

(A) High resistance and high melting point

(B) High resistance and low melting point

(C) Low resistance and high melting point

(D) Low resistance and low  melting point

51. A transformer with output of 250 KVA at 3000 V,

has 600 turns on its primary side and 60 tums on the

secondary winding. What will be the voltage at

primary side :

(A) 300 V (B) 30000 V

(C) 30 V (D) 3 x 105 V

52. An ordinary tube light used for lighting purpose

contains:

(A) Fluorescent material and inert gas

(B) One filament, reflective material and mercury

vapour

(C) Fluorescent material and mercury vapour

(D) Two filaments, fluorescent material and

mercury vapour

53. The eddy current losses in the transformer occurs in

the :

(A) Primary winding (B) Core

(C) Secondary winding (D) None of these

47. oxZewy dk vfHkizk; gS foijhr ek=k dk oxZ dk
eku nwljs uke ls tkuk tkrk gS %
(A) rkRdkfyd eki
(B) vf/kdre eku
(C) izHkkfor eku
(D) vkSlr eku

48. foijhr ek=k dh ?kVd fof/k fuEu ds }kjk nh tkrh
gS%
(A) vkSlr eku@RMSeku
(B) vkSlr eku@vf/kdre eku
(C) vkj-,l-,l eku@vkSlr eku
(B) vkj-,l-,l eku@vf/kdre eku

49. izfrnhIr V;wc ds >idus dk dkj.k gS %
(A) de oksYVst fo|qr ifjiFk
(B) de foLQksVd nj
(C) de rkieku
(D) buesa esa ls dksbZ Hkh

50. lqj{kk Q;wt+ gksuk pkfg, %
(A) mPp izfrjks/kdrk vkSj mPp xyukad
(B) mPp izfrjks/kdrk vkSj de xyukad
(C) de izfrjks/kdrk vkSj mPp xyukad
(D) de izfrjks/kdrk vkSj de xyukad

51. ,d VªkalQkeZj ftldk mRiknu 250 KVA 3000 V,

oksYV ij izkFkfed igyw esa 600 pDdj vkSj fnR;d
igyw ds ?kqeko esa 60 pDdj gS A izkajfHkd igyw dk
oksYVst+ D;k gksxk %
(A) 300 oksYV (B) 30000 oksYV
(C) 30 oksYV (D) 3 x 105 oksYV

52. ,d lk/kkj.k V;wc ykbV ds fy, mi;ksx esa ykbZ
tkrh gS%
(A) nhIr lkexzh vkSj vfØe xSl
(B) ,d rarq] ijorZu lkexzh vkSj ejdjh ok’i
(C) nhIr lkexzh vkSj ejdjh ok’i
(D) nks rarq nhIr lkexzh vkSj ejdjh ok’i

53. VªkalQkeZj esa ,Mh djUV gkuh dgk¡ gksrh gS%
(A) izkFkfed izokg (B) dsUnz Hkkx
(C) f}R;d izokg (D) buesa ls dksbZ ugha
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54. The condition for maximum efficiency of the

transfomer is that :

(A) Copper losses are half the iron losses

(B) Copper losses are equal to the square of the

iron losses

(C) Copper losses are equal to the iron losses

(D) Copper losses are zero

55. Copper as conductor for cables is used as :

(A) Hard dram

(B) Annealed

(C) Hardened & tempered

(D) Alloy with chromium

56. The segments of the commutator of a D.C machine

are insulated from each other by :

(A) Rubber (B) Porcelain

(C) Mica (D) Varnish

57. Which of the following motor has high starting

torque:

(A) d.c. shunt motor (B) d.c. series motor

(C) Both (A) and (B) (D) None of the above

58. The number of parallel paths in wave wound

armature are :

(A) Equal to the number of poles of the machine

(B) Equal to two, irrespective of the number of poles

(C) Equal to number of communtator segments

(D) Equal to number of armature conductors

59. Which of the following motor is used to drive. The

constant speed line shafting, lathes, blowers and

fan?

(A) d.c. shunt motor

(B) d.c. series motor

(C) Comulative compound motor

(D) None of the above

60. In a D.C. machine iron losses occur in :

(A) The yoke (B) The pole shoe

(C) The armature (D) The field

54. VªkalQkeZj dh lcls vf/kd {kerk okyh fLFkfr gS%
(A) rk¡cs dh gkfu yksgs dh gkfu dk vk/kk gS
(B) ,d oxZ yksgs dh gkfu cjkcj gS rk¡cs dh gkfu ds
(C) rk¡cs dh gkfu cjkcj gS yksgs dh gkfu ds
(D) rk¡cs dh gkfu “kwU; gS

55. fctyh dh rkjksa esa dkWij pkyd ds :i esa iz;ksx
fd;k tkrk gS %
(A) etcwr vk;ru
(B) ,fu;kysM (rkikuq”khfrr)

(C) dM+kiu ,oa yphykiu (/kkrq dks xje o BM+k
djds dBksj vkSj yphyk cukuk)

(D) feJ/kkrq Øksfe;e ds lkFk

56. fLop dk og Hkkx ftlls fo|qr /kkjk dh fn”kk cny
nh tkrh gS] ,d &nwljs ls jksf/kr gksrh gS%
(A) jcM+ (B) isklZfyu
(C) ekbdk (D) ofuZ”k

57. fuEufyf[kr esa dkSu lh eksVj esa lcls vf/kd
vk?kw.kZ cy gS%
(A) Mh-lh- “kaV eksVj (B) Mh-lh- J`a[kyk eksVj
(C) (A) vkSj (B) nksuksa (D) buesa ls dksbZ ugha

58. ,d rjax esa lekukadj iafDr dh la[;k (armature)

vkesZpj dks ?kqekrh gS
(A) e”khu ds /kqozks dh la[;k ds leku
(B) nsk leku bjsZLisfDVo iksy dh la[;k ds leku
(C) dE;waVsVj  izjs.k dh la[;k ds leku
(D) vkesZpj [kaM dh la[;k ds leku

59. ,d fLFkj pky esa dkSu lh eksVj mi;ksx es ykbZ tkrh
gS eksVj dk MaMk] [kjkn e”khu] /kkSduh vkSj ia[kk
pykus es %
(A) Mh-lh- “kaV eksVj
(B) Mh-lh- J`a[kyk eksVj
(C) la;qDr ;kSfxd eksVj
(D) buesa ls dksbZ ugha

60. Mh-lh- e”khu esa yksgs dh gkfu mRiUu gksrh gS%
(A) ;ksd (B) /kzqo ij
(C) vkesZpj ij (D) {ks= ij
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61. In a balanced 3-phase, star connected system, the

relation between phase voltage (V
ph

) and line

voltage (V
L
) is :

(A) Lph VV 3

(B) V
Ph

=0.577 V
L

(C)
2
L

Ph

V
V 

(D) None of the above

62. A 3-Phase load is said to be balanced load, if all

the three phase have the same :

(A) Impedance

(B) Power factor

(C) Both (A) and (B)

(D) None of the above

63. In two wattmeter method of 3-phase power

measurement in balanced load having 0.5 P.F

lagging :

(A) One watt meter reads zero

(B) One watt meter reads down scale

(C) Both the watt meter read equally

(D) Both the watt meter give equal but opposite

readings

64. The stability of arc in vaccume depends upon the :

(A) Contact meterial only

(B) Contact material and vapour pressure

(C) Circuit parameters only

(D) Combination of (B) and (C)

65. The order of the lightning discharge current is :

(A) 10000 amp (B) 100 amp

(C) 1 amp (D) 1 micro amp

66. Phosphor bronze alloy is used for springs in

indicating instruments because the alloy has :

(A) Low resistance to fatigue

(B) Good magnetic property

(C) Low specific resistance

(D) High temperature coefficient of expansion

61. ,d larafyr 3& Qst esa LVkj lacaf/kr ;a=] Qst
oksYVst (V

ph
) vkSj ykbZu oksYVst+ (V

L
) esa laca/k gS%

(A) Lph VV 3

(B) V
Ph

=0.577 V
L

(C)
2
L

Ph

V
V 

(D) buesa ls dksbZ ugha

62. ,d 3& Qst+ Hkkj larqfyr Hkkj dgk tkrk gS ;fn
lHkh rhu Qst leku gks %
(A) izfrck/kk (;fn lfdZV esa foijhr fo|qr /kkjk

gks)
(B) fo|qr /kkjk dh lekurk
(C) (A) vkSj (B) nksuksa
(D) buesa ls dksbZ ugha

63. nks okWVehVj ;qfDr esa 3&Qst “kfDr ekih tkrh gS
0.5 P.F okys lraqfyr Hkkj esa %
(A) ,d okWVehVj dh f=T;k ij
(B) ,d okWVehVj Ldsy ij
(C) nksuksa okWVehVjksa dks cjkcj i<+k tk ldrk gS
(D) nksuksa okWVehVj cjkcj ijarq foijhr ikBk;kad

nsrs gS

64. fuokZr esa pki dh fLFkjrk fuHkZj djrh gS%
(A) dsoy lacaf/kr lkexzh ij
(B) lacaf/kr lkexzh vkSj ok’o nkc ij
(C) dsoy fo|qr ifjiFk ds ekinaM ij
(D) (B) vkSj (C) dk lfeJ.k

65. rfM+r izokg fo|qr/kkjk dk fMlpkZt fdruk gksrk gS%
(A) 10000 vika;j (B) 100 vika;j
(C) 1 vika;j (D) 1 ekbØks & vika;j

66. QkLQksj czksta /kkrq lwpd ;a= esa fLizax ds fy, iz;ksx
esa ykbZ tkrh gS D;ksafd %
(A) de izfrjks/k
(B) mÙke pqacdh; xq.k
(C) de visf{kr izfrjks/k
(D) vf/kd rki xq.kd ds foLrkj
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67. Rotor resistance starters are used with wound

rotor induction motor. When the motor is running

the resistance in the starter are :

(A) Open circuited

(B) Connected in star

(C) Shorted

(D) Connected in delta

68. While finding solution of AC circuit, vector

quantities are added or subtracted. One of the

method to solve these vector quantities is :

(A) Parallelogram method

(B) Scalar method

(C) Algebric method

(D) Numerical method

69. Before varnishing a newly wound motor, the

winding must be preheated. What is the purpose of

preheating :

(A) To help the varnish spreading easily

(B) To ensure that the winding can withstand that

temperature while working

(C) To drive out the moisture in between the wires

and layers

(D) To remove air in between wires and layers for

easy flow of varnish

70. On inspection, the commutator of a DC generator

was found badly worn out. Sand papering is of no

use. The best thing to do is to :

(A) Turn the commutator on a lathe

(B) Clean the commutator with CTC

(C) Replace the commutator

(D) Replace the armature

71. AC changes in value and direction periodically. This

tends to make the current flow along the outer

surface of the conductor. This phenomenon is know

as :

(A) Maxwell’s effect

(B) Eddy current effect

(C) Hystereris effect

(D) Skin effect

67. ?kqekonkj v?kw.kZ izjs.k eksVj esa v?kw.kZ izfrjks/k LVkVZj
mi;ksx esa yk, tkrs gSA tc eksVj izfrjks/k ls pyrh
gS rks LVkVZj gksrs gS %
(A) [kqys fo|qr ifjiFk
(B) LVkj esa tqM+us ls
(C) “kkWV lfdZV
(D) MsYVk ls tqM+us okys

68. ,-lh- fo|qr ifjiFk dk gy <w¡<us ls lfna”k xq.k tqM+rs
vkSj ?kVrs gSA lafn”k xq.k dk gy fudkyus dk ,d
rjhdk gS %
(A) lekUrj prqHkZth; rjhdk
(B) vfn”k rjhdk
(C) chtxf.kr; rjhdk
(D) vadu rjhdk

69. ubZ ?kqekonkj eksVj dh ofuZf”kax ls igys okbfMax dks
xeZ djuk pkfg,A bl dk mís”; gS
(A) ofuZ”k Lora=rk ls QSykus esa enn djs
(B) ;g lqfuf”pr djsa fd dk;Z ds nkSjku okbfMax

rki ds lkFk Bgjrh gS
(C) rkjksa vkSj ijrksa ds e/; dh ueh fudkyrs gS
(D) ofuZ”k ds cgko ds fy, rkjksa vkSj ijrksa esa ls

gok gVkrs gS

70. fujh{k.k ds nkSjku Mh-lh- tujsVj dk fnDifjorZd
cqjh n”kk esa ik;k x;kA jsxekWy dk dksbZ mi;ksx ughs
gSA blds fy, lcls mÙke fof/k gS%
(A) fnDifjorZd dks [kjkn dh e”khu ij pykuk
(B) lh-Vh- lh- ls fnDifjorZd dks lkQ+ djuk
(C) fnDifjorZd dks cnyuk
(D) vkesZpj dks cnyuk

71. ,-lh- dk eku vkSj fn”kk le;&le; ij cnyrk gS
;g pkyd dh Hkkjh ijr fo|qr ds izokg esas lgk;d
gksrh gSA ;g rF; dgykrk gS%
(A) eSDloSy izHkko
(B) ,Mh fo|qr /kkjk izHkko
(C) fgfLVªfll izHkko
(D) Ropk izHkko
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72. You have to change the defective motor of an

electric locomotive. Which type of motor would you

choose?

(A) DC shunt motor

(B) Separately excited motor

(C) DC differential compound motor

(D) DC series motor

73. Which one of the following is not applicable to

capacitor type table fan motor ?

(A) Auxiliary winding

(B) Shading ring

(C) Main winding

(D) Condenser

74. One of the reason for charging penalty for drawing

power at low PF is :

(A) Line voltage and frequency drops

(B) Current drawn from mains will be higher

(C) Power drawn by the consumer will be less

than the senctioned power

(D) Energy meter will run slow indicating lower

power consumption

75. The maximum value of sine wave AC voltage is

10V. What is the rms value :

(A) 1.732 V (B) 7.070 V

(C) 3.142 V (D) 1.414 V

76. Breather-DC-hydrating material used inside to

prevent moisture entering the transformer is :

(A) Copper sulphate

(B) Sodium chloride

(C) Sodium Sillicate

(D) Sillica gel

77. Instruments which must not be used in the circuit

when the power is on :

(A) Ohm meter and Megger

(B) Phase sequence meter and energy meter

(C) Frequency meter and tong tester

(D) Wattmeter and PF meter

72. ;fn vkidks fo|qrh; batu dh eksVj cnyuh gSA vki
fdl izdkj dh eksVj dk p;u djsaxs %
(A) Mh-lh- vyx /kdsyus okyh eksVj
(B) mÙkstuk eksVj
(C) Mh-lh- vraj ;kSfxd eksVj
(D) Mh-lh- J`a[kyk eksVj

73. fuEu esa dkSu lk dSisflVj est] ia[kk vkfn dh eksVj
ds fy, mi;qDr ugha gksrk %
(A) ?kqekonkj okbfMax
(B) “ksfMax okbfMax
(C) eq[; okbfMax
(D) daMsulj

74. fuEu PF ij “kfDr cgkus gsrq izHkkjh naM dk ,d
dkj.k gS %
(A) ykbu oksYVst+ vkSj vko`fr cw¡nsa
(B) tks fo|qr izeq[k (esu) esa cgrh gS] og vf/kd

gksxh
(C) miHkksDrk ls izkIr dh xbZ “kfDr LohÑfr “kfDr

ls de gksxh
(D) mtkZ ehVj de nkSM+rk gS vkSj de “kfDr

[kir n”kkZrk gS

75. Sine rjax dk vf/kdre eku ,-lh- okWYVst 10V gSA
rms eku D;k gksxk %
(A) 1.732 V (B) 7.070 V

(C) 3.142 V (D) 1.414 V

76. czhnj&Mh-lh- gkbMªsfVax lkexzh VªklQkeZj ds vanj
ueh dks tkus ls jksdus esa mi;ksx dh tkrh gS%
(A) dkWij lYQsV
(B) lksfM;e DyksjkbM
(C) lksfM;e flfydsV
(D) flfydk tSy

77. tc fo|qr /kkjk fujraj cg jgh gks rks fo|qr ifjiFk

esa fdl ;a= dk mi;ksx ugh djuk pkfg, %

(A) vksge ehVj vkSj eSxj

(B) Qst+ Øfed ehVj vkSj mtkZ ehVj

(C) vko`fr ehVj vkSj fpeVk ijh{k.k

sa (D) okWVehVj vkSj ih-,Q-ehVj
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78. The motors used for electric clocks and timing

devices are :

(A) Self excited single phase synchronous motor

(B) External excited single phase synchronous

motor

(C) Non-excited single phase synchronous motors

(D) Saprately excited single phase synchronous

motor

79. Potential transformers are used to connect :

(A) Voltmeters to the primary of transformer

(B) Intruments to bus bar of distribution panel

(C) Voltmeters to high voltage lines

(D) Energy meters to low voltage lines

80. A 10-Volt coil has a resistance of 25 . The coil

was re-wound with 0.224 mm dia wire which has

0.45   per meter. The length of wire used is 50m.

What is the change in resistance of re-wound coil?

(A) 6.5  (B) 4.5 

(C) 2.5  (D) 9.5 

81. On a overhauling operation it was found that the

motor is equiped with ‘sealed’ bearings. The

bearings will require :

(A) Lubrication at intervals of 6 months

(B) Lubrication at intervals of 1 month

(C) No Lubrication during its life service

(D) Lubrication at interval of  one year

82. You are testing a power capacitor using Ohm meter.

The capacitor is in good condition only when the

pointer moves to :

(A) Zero and then slowly to infinity position
(B) Infinity position and remain there
(C) Zero position and remain there
(D) Infinity position and then to zero position

78. fo|qrh; ?kM+h vkSj le; midj.k ds fy, eksVj

mi;ksx dh tkrh gS

(A) Lo mÙksftr ,dy Qst eksVj

(B) ckgjh mÙksftr ,dy Qst eksVj

(C) xSj mÙksftr ,dy Qst eksVj

(D) i`Fkd mÙksftr ,dy Qst eksVj

79. fLFkfrt VªkalQkeZj dk mi;ksx fd;k tkrk gS] tksM+us

esa %

(A) oksYVehVj dk izkbejh VªkalQkeZj ds lkFk

(B) forj.k iSuy dk ^cl ckj ;a=^

(C) vf/kd oksYVst ykbu okys oksYVehVj

(D) de oksYVst ykbu okys oksYVehVj

80. ,d 10 oksYV dh daqMyh dk izfrjks/k 25  gSA

dqaMyh dks nqckjk 0.224 mm ds O;kl dh rkj ls

?kqek;k x;k tks 0.45   izfr0eh0 gS 50 eh0 rkj

dh yEckbZ iz;ksx dh xbZA iqu% ?kqekonkj dqaMyh ds

izfrjks/k esa cnyko vk,xk %

(A) 6.5  (B) 4.5 

(C) 2.5  (D) 9.5 

81. ehVj ds vksoj gkWfyax vkWizs”ku esa ik;k x;k fd

eksVj lhy fc;fjax ls lfTtr gSA fc;fjax dh

vko”;drk gksxh %

(A) Ng eghus ds varjky esa rsy Mkyuk

(B) ,d eghus ds varjky esa rsy Mkyuk

(C) bldh iwjh ftnaxh rsy u Mkyuk

(D) ,d lky ds varjky esa rsy Mkyuk

82. vki vksg~e ehVj ds }kjk la?kkfj= dh “kfDr dk
ijh{k.k dj jgs gSA la?kkfj= vPNh fLFkfr esa rHkh
jgrk tc lwpd pyrk gS%
(A) “kwU; ,oa /khjs ls vuar fLFkfr rd
(B) vuar fLFkfr vkSj “ks’k
(C) “kwU; fLFkfr vkSj “ks’k
(D) vuar fLFkfr vkSj “kwU; fLFkfr rd
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83. Sweep of ceilling fan refers to :
(A) Double the distance from center of motor to tip

of blade
(B) The distance from centre of motor to tip of blade
(C) Double the length of blade
(D) Radius of circle formed by its rotation

84. The resistance of a conductor of diameter ‘d’ and

length ‘ ’ is ‘R’ Ohms. If the diameter of the

conductor is halved and its length is doubled, the
resistance of the conductor is :
(A) R Ohms (B) 2 R Ohms
(C) 4R Ohms (D) 8 R Ohms

85. The resistivity of the conductor depends on the  :
(A) Area of conductor
(B) Length of the conductor
(C) Type of material
(D) None of these

86. The current flowing in a series circuit having four
equal resistors is I amperes. What is the magnituds
of the current if 4 resistances are connected in
parallel ?
(A) 0.25I (B) I
(C) 4I (D) 8I

87. A capacitor carries a charge of 0.15 C at 10V. Its
capacitance is :
(A) 0.015F (B) 1.5F
(C) 1.5  F (D) None of these

88. To obtain a high value of capacitance the
permitivity of the dielectric material should be :
(A) Low (B) Medium
(C) High (D) That of air

89. One Farad is equal to :

(A) 1 (B) 1 V/C
(C) 1C/V (D) None of these

90. The unit of resistivity is :

(A)  (B)  /m

(C)  /m2 (D)  -m

83. Nr okys ia[ks dk pDdj ladsr djrk gS%
(A) eksVj ds dsanz vkSj CysM ds “kh’kZ ls nqxquh nwjh
(B) eksVj ds dassnz vkSj CysM ds “kh’kZ ls nwjh
(C) CysM dh yackbZ dk nqxq.kk
(D) mlds ,d pDDj ls o`r dh f=T;k curh gS

84. ,d fo|qr pkyd dk izfrjks/k ftldk O;kl ‘d’

vkSj ‘  ’ yackbZ vkSj izfrjks/k ‘R’ vksg~e gS ;fn dk
O;kl vk/kk dj ns rks fo|qr pkyd dk izfrjks/k
gS %
(A) R vksg~e (B) 2 R vksg~e
(C) 4R vksg~e (D) 8 R vksg~e

85. fdlh fo|qr pkyd dh izfrjks/kdrk fuHkZj djrh gS%
(A) pkyd ds {ks=Qy ij
(B) pkyd dh yackbZ ij
(C) lkexzh ds izdkj ij
(D) buesa ls dksbZ ugha

86. ,d ,Eih;j ds pkj cjkcj izfrjks/k eas Js.kh ifjiFk
ij fo|qr /kkjk cg jgh gSA ;fn 4 izfrjks/k
lkekUrj tksM+rs gS rks fo|qr /kkjk dk ifjeku
gksxk%
(A) 0.25I (B) I
(C) 4I (D) 8I

87. ,d la?kkfj= esa 10V esa 0.15 C vkos”k cgrk gS]
mldh /kkfjrk gS %
(A) 0.015F (B) 1.5F

(C) 1.5 F (D) buesa ls dksbZ ugha

88. la?kkfj= dk mPp eku izkIr djus ds fy, <k¡drk
gqvk vlokgd inkFkZ gksuk pkfg, %
(A) fuEu (B) e/;e
(C) mPp (D) gok ds dkj.k

89. ,d QSjkWM cjkcj gS%

(A) 1 (B) 1 V/C
(C) 1C/V (D) buesa ls dksbZ ugah

90. izfjks/kdrk dk ek=d gS %

(A)  (B)  /m

(C)  /m2 (D)  -m
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91. When more than one equipment is to be earthed :

(A) Parallel connection should invariably be used
(B) Series connection should invariably be used
(C) Either (A) or (B)
(D) None of the above

92. Fuse is always connected :
(A) In series with the circuit to be protected
(B) In parallel with the circuit to be protected
(C) Either (A) or (B)
(D) None of the above

93. The material used for fuse must have :
(A) Low melting point and low specific resistance
(B) Low melting point and high specific resistance
(C) High melting point and low specific resistance
(D) Low melting point with any specific resistance

94. Magnetic flux has the unit of :
(A) Newton (B) Ampere turns
(C) Coulomb (D) Weber

95. The Right hand rule for determining the direction
of induced emf enunciated by :
(A) Faraday (B) Loz
(C) Fleming (D) Maxwell

96. From economy point of view, mostly the wiring
employed in residential building is :
(A) Cleat wiring
(B) Casing-capping wiring
(C) C.T.S. wiring
(D) Conduit wiring

97. How many coils are required in a Megger :
(A) One (B) Two
(C) Three (D) Four

98. The wattmeter :
(A) Has three connections two of which are used

at a time
(B) Can measure dc power output but not 60 c/s.

a.c power
(C) Has voltage and current coils to measure the

real power
(D) Only measure apparent power

91. tc ,d ls vf/kd midj.k fo|qr ifjiFk dks i`Foh
ls tksM+rs gS%
(A) fLFkj lkekarj laca/k mi;ksx djus pkfg,
(B) fLFkj Js.kh laca/k mi;ksx djus pkfg,
(C) (A) ;k (B)
(D) buesa ls dksbZ ugha

92. ¶;wt+ ges”kk tqM+rk gS %
(A) ml Js.kh esa tgk¡ ifjiFk lqjf{kr jgrk gS
(B) lekukarj esa tgk¡ ifjiFk lqjf{kr jgrk gS
(C) (A) ;k (B) nksuksa
(D) buesa ls dksbZ ugha

93. tks lkexzh ¶;wt+ ds fy, mi;ksx gksrh gS mlesa %
(A) de xyukad vkSj de visf{kd izfrjks/k
(B) de xyukad vkSj vf/kd visf{kd izfrjks/k
(C) vf/kd xyukad vkSj de visf{kd izfrjks/k
(D) de xyukad visf{kd izfrjks/k ds lkFk

94. pqEcdh; izokg dh bZdkbZ gS %
(A) U;wVu (B) ,Eih;j pDdj
(C) dwykWe (D) oScj

95. izsfjr emf dh fn”kk O;Dr djus esa nk,¡ gkFk fu;e dk
fu/kkZj.k djrk gS%
(A) QSjkWMs (B) ykst+
(C) ¶ysfeax (D) eSDloSy

96. vkfFkZd n`f’V ls ?kjsyw edkuksa esa vf/kdrj rkjsa yxkbZ
tkrh gS%
(A) dyhV rkjsa
(B) vkoj.k dSfix rkjsa
(C) lh Vh ,l rkjsa
(D) ikbiykbu rkjsa

97. eSxj esa fdruh dk;¡y gksrh gS%
(A) ,d (B) nks
(C) rhu (D) pkj

98. okWVehVj %
(A) okWVehVj ds rhu laca/k gS] ,d le; esa nks

mi;ksx gksrs gS
(B) fctyh mRiknu dks ekirk gS] ,-lh- dh 60 c/s

ikoj dks NksM+ dj
(C) oksYVst+ vkSj djaV okyh rkjsa okLrfod “kfDr

ekius ds fy, gksrh gS
(D) dsoy izR;{k “kkfDr ekirs gS
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99. The dynamometer wattmeter can be used to

measure :

(A) a.c power

(B) d. c power

(C) a.c or d  power

(D) a.c power in only circuits

100. The controlling torque in an indicating instrument :

(A) Brings the pointer back to the zero position

when instrument is disconnected

(B) Controls the diflection and tries to stop the

pointer at its final position where diflecting

torque is equal to controlling torque

(C) Reduces the oscillations of pointer and quickly

brings the pointer to its final position

(D) Both (A) and (B)

99. MkbuksehVj okVehVj ekius ds fy, mi;ksx dj
ldrs gS%
(A) ,-lh- ikoj
(B) Mh-lh- ikoj
(C) ,-lh- vkSj Mh-lh ikoj
(D) ,-lh- ikoj dsoy 1-  lfdZV esa

100. lwpd ;a= esa fu;a=.k gksrk gS%
(A) tc ;a= dk laca/k gVk fn;k tkrk gS rks lwpd

“kwU; fLFkfr esa vk tkrk gS
(B) fo{ksi.k fu;=a.k mldh vafre fLFkfr ij fu;a=.k

djrk gS vkSj lwpd can djus dh dksf”k”k djrk
gS tgk¡ vk?kw.kZ cy ds fu;=ad ls fo{ksfir vk?kw.kZ
cy cjkcj gks

(C) lwpd dk nkSyu de vkSj rst djrk gS vkSj
lwpd dks vafre fLFkfr esa ykrk gS

(D) (A) vkSj (B) nksuksa
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1. Who among the following is present Chief Minister

of Manipur?

(A) Trivendra Singh Rawat

(B) N. Biren Singh

(C) Kiran Jiju

(D) Marry Kom

2. Which one of the following is not included while

estimating National Income through income method?

(A) Rent (B) Mixed incomes

(C) Pension (D) Undistributed profits

3. The ‘Akaal Takht’ was built by :

(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

4.   Who was the regent of Akbar in his early days ?

(A) Abul Fazl (B) Bairam Khan

(C) Mansingh (D) Todarmal

5. Vikram Sarabhai Space Centre (VSSC) is located

at :

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

6.  Farookh Engineer played his last Cricket Test match

at his home ground. Where did he play his last Test

match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

7.  The headquarter of the Indian Mountaineering

Foundation is  located at :

(A) Kolkata (B) Darjeeling

(C) New Delhi (D) Dehradun

8. The Territorial Army was established in :

(A) 1962 (B) 1948

(C) 1920 (D) 1953

1. fuEufyf[kr esa ls euhiqj dk orZeku eq[;ea=h dkSu
gS\
(A) f=osUnz flag jkor
(B) ,u0 chjsu flag
(C) fdju ftTtw
(D) eSjh dke

2. vk; fl)kUr ij fd;s x;s vkdyu ds vuqlkj
jk’Vªh; vk; ds vuqeku esa fuEufyf[kr es ls fdldh
x.kuk ugha dh tkrh\
(A) fdjk;k (B) fefJr vk;
(C) isa”ku (D) vforfjr ykHk

3. ^vdkyr[r^ dk fuekZ.k fdlus djk;k Fkk\
(A) xq: jkenkl
(B) xq: rsxcgknqj
(C) xq: gjxksfoan
(D) xq: ukud

4. izkjafHkd dky es vdcj dk fliglkykj dkSu Fkk\
(A) vcqy Qt+y (B) cSje[kk¡
(C) ekuflga (D) VksMjey

5. foØe lkjkHkkbZ varfj{k dsUnz dgk¡ fLFkr gS\
(A) fr#oariqje (B) eqEcbZ
(C) gSnjkckn (D) caxys#

6. Qk#[k+ bathfu;j us viuk vafre fØdsV VsLV eSp
vius ?kjsyw&eSnku ij [ksykA fuEufyf[kr esa ls dgkW
mUgksaus viuk vfre VsLV eSp [ksyk\
(A) fnYyh (B) dydÙkk
(C) gSnjkckn (D) eqEcbZ

7. Hkkjrh; ioZrkjksg.k QkamMs”ku dk eq[;ky; dgk¡
fLFkr gS\
(A) dydÙkk (B) nkftZfyax
(C) ubZ fnYyh (D) nsgjknwu

8. VsjhVksfj;y vkehZ dh LFkkiuk dc gq;h Fkh\
(A) 1962 (B) 1948

(C) 1920 (D) 1953

PART-I GENERAL AWARENESS / KNOWLEDGE



4ELECTRICIAN-05 SET-C

9.     Bijapur is known for  :

(A) Severe drought Area

(B) Gol Gumbaz

(C) Heavy rainfall Area

(D) Statue of Gomateswara

10. Light from the Sun reaches us in nearly :

(A) 2 minutes (B) 4 minutes

(C) 8 minutes (D) 16 Seconds

11. If CANDLE is written as EYPBNC, in certain code

then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HJCKGQ (D) KCHJUA

12. Choose the correct option in the place of question

mark (?) :

2

18

162

1458

4

?

196

1372

6

30

150

750

(A) 16 (B) 28

(C) 49 (D) 54

13. In a picture on wall Ram showed an old man and

said “his son is my  son’s uncle”. How is the old man

related to Ram?

(A) Father (B) Grandfather

(C) Brother (D) Uncle

14. Choose correct option in the place of question

mark (?) :

?

7

9

10

12

14

40

50

60

(A) 3 (B) 5

(C) 8 (D) 4

15. Evaluation of 83 x 82 x 8-5 is :

(A) 1 (B) 0

(C) 8 (D) None of these

9. chtkiqj fdlds fy;s tkuk tkrk gS\
(A) Hkh’k.k lw[kkxzLr {ks=
(B) xksy xqEcn
(C) vfr o`f’V okyk {ks=
(D) xksers”oj dh izfrek ds fy;s

10. lw;Z dk izdk”k ge rd fdruh vof/k esa igqaprk gS\
(A) 2 feuV (B) 4 feuV
(C) 8 feuV (D) 16 lsds.M

11. ;fn CANDLE  dks fdlh dwV (dksM) es EYPBNC

fy[krs gSa rks FLAMES dks mlh dwV esa D;k fy[ksxs\
(A) DJYKCQ (B) HNCOGU

(C) HJCKGQ (D) KCHJUA

12. iz”ufpUg dks mfpr fodYi ls iwjk dhft;s %

2

18

162

1458

4

?

196

1372

6

30

150

750

(A) 16 (B) 28

(C) 49 (D) 54

13. nhokj ij yxs ,d fp= dks fn[kkdj jke us crk;k
fd bl o`) O;fä dk iq= esjs iq= dk pkpk gSA^^jke
dk o`) ls D;k lca/k gS %
(A) firk (B) izfirk
(C) HkkbZ (D) pkpk

14. iz”u (?) ds LFkku ij mfpr fodYi dk p;u
dhft;s %

?

7

9

10

12

14

40

50

60

(A) 3 (B) 5

(C) 8 (D) 4

15. 83 x 82 x 8-5 dk gy gS %
(A) 1 (B) 0

(C) 8 (D) mijksä esa dksbZ ugha

PART-I  ELEMENTARY MATHEMATICS



5ELECTRICIAN-05 SET-C

16. Find the HCF of 54, 288, 360 :

(A) 18 (B) 36

(C) 54 (D) 108

17. What will be the LCM of 8, 24, 36 and 54 :

(A) 54 (B) 108

(C) 216 (D) 432

18. Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :

(A) Rs. 450 (B) Rs. 524

(C) Rs. 600 (D) Rs. 624

19. Rs. 1200 is lent out at 5% per annum simple interest

for 3 years. Find out what would be the amount

after 3 years ?

(A) Rs. 1380 (B) Rs. 1290

(C) Rs. 1470 (D) Rs. 1200

20. Rs. 2100 is lent out at compound interest of 5%

per annum for 2 years. Find out what would be the

amount after two years:

(A) Rs. 2300 (B) Rs. 2315.25

(C) Rs. 2310 (D) Rs. 2320

16. 54, 288, 360  dk egÙe lekiorZd Kkr dhft;s\
(A) 18 (B) 36

(C) 54 (D) 108

17. 8, 24, 36 vkSj 54 dk y?kqre lekiorZd Kkr dhft;s\
(A) 54 (B) 108

(C) 216 (D) 432

18. 5200  :i;s dh /kujkf”k ij 6 izfr”kr okf’kZd dh nj
ls nks o’kksZ dk lk/kkj.k O;kt fdruk gksxk\
(A) 450 :i;s (B) 524 :i;s
(C) 600 :i;s (D) 624 :i;s

19. 1200 :i;s dh /kujkf”k 5 izfr”kr lk/kkj.k okf’kZd
O;kt dh nj ls rhu o’kksZ ckn fdruh gks tk;xh\
(A) 1380 :i;s (B) 1290 :i;s
(C) 1470 :i;s (D) 1200 :i;s

20. 2100 :i;s dh /kujkf”k 5 izfr”kr dh okf’kZd pØo`f)
O;kt nj ls nks o’kZ ckn fdruh gks tk;xh\
(A) 2300 :i;s (B) 2315.25 :i;s
(C) 2310 :i;s (D) 2320 :i;s

PART-I  ANALYTICAL APTITUDE, ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

Direction : In Q. No. 21 and 22 a related pair of words is
provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

21. ENQUIRE : ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

22. FERRY : BOAT : :
(A) Gondola : Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 23-26) Choose the correct altenative
given to replace the Question mark (?) :

23. NUMERAL : UEALRMN : : ALGEBRA: ?
(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA

funsZ”k % iz”u la0 21 &22 esa “kCnksa dk lacaf/kr tksM+k fn;k
x;k gSA fn, x;s fodYiksa esa ls ml tksM+s dks pqfu;s
tks dSfiVy esa fn;s x;s tksMs tSlk laca/k n”kkZrk gS%

21. ENQUIRE : ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

22. FERRY : BOAT : :
(A) Gondola : Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

funsZ”k % iz”u la0 23 &26 fn;s x;s fodYiksa esa lgh fodYi
dk p;u dhft;s tks iz”u fpUg dk LFkku ys lds %

23. NUMERAL : UEALRMN : : ALGEBRA: ?
(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
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24. BDAC : FHEG : : NPMO : ?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS

25. FGID : OPQR : : BCDE : ?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM

26. PNLJ : IGLC  : : VTRP : ?
(A) QMKI (B) RSTU

(C) QSRC (D) RPOM

27. Find odd one out :

(A) Excel (B) Mouse

(C) Desktop (D) Key

28. Find out from the given option which is different?

(A) Naga (B) Bhil

(C) Garo (D) Brahmin

29. With which sport Dibeyendu Barua is asociated?

(A) Chess (B) Football

(C) Cricket (D) Shooting

Direction : In which answer figure specified components

of key figure are found ?

30. Key Figure:

Answer Figure :

(A) (B)

(C) (D)

24. BDAC : FHEG : : NPMO : ?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS

25. FGID : OPQR : : BCDE : ?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM

26. PNLJ : IGLC  : : VTRP : ?
(A) QMKI (B) RSTU

(C) QSRC (D) RPOM

27. vlaxr dks Kkr dhft;s %
(A) ,Dlsy (B) ekml
(C) MsLdVki (D) dh

28. fn;s x;s fodYiksa esa vlaxr dk p;u dhft;s %
(A) ukxk (B) Hkhy
(C) xkjks (D) czkã.k

29. nscsUnq c#vk dk lca/k fdl [ksy ls gS\
(A) “krjat (B) QqVcky
(C) fØdsV (D) “kawfVx

funsZ”k % dkSu lh mÙkj vkÑfr esa leL;k vkÑfr ds fo”k’V
rRo fo|eku gS\

30. leL;k vkÑfr

mÙkj vkÑfr

(A) (B)

(C) (D)
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31. ^dey^ dk i;kZ;okph “kCn ugha gS %
(A) iadt (B) lkSjHk
(C) tyt (D) dat

32. ^gkFk dk eSy^ ls vFkZ gS %
(A) esgur dh dekbZ (B) lgt izkIr oLrq
(C) vR;Ur rqPN oLrq (D) ijekRek dh nsu

33. ^”kojh ds csj^ dk vFkZ gS%
(A) Hkfä&Hkkouk ls nh gqbZ HksaV
(B) nku nsuk
(C) twBk Hkkstu djkuk
(D) viZ.k djuk

34. ^tks tUe ls va/kk gS^ mlds fy, ,d “kCn
dkSu&lk gS\
(A) lwjnkl (B) tUeka/k
(C) /k̀rjk’Vª (D) u”oj

35. ^tks ns[kus eas fiz; yxrk gS^ ds fy, ,d “kCn
dkSu&lk gS\
(A) vkd’kZd (B) eueksgd
(C) fiz;n”khZ (D) ikjykSfdd

funsZ”k iz0  36 ls 37  % fuEufyf[kr okD;ksa esa ftl va”k
esa =qfV gS] mls fpfàr dhft,%

36.

(A) izÑfr dh lkSna;Zrk
(B) fdl dk eu
(C) ugha gj ysrh
(D) dksbZ =qfV ugha

37.

(A) lTtuks ls fe=rk
(B) j[kus ls
(C) “kkafr feyrh gS
(D) dksbZ =qfV ugha

38. ^T;s’B^ dk foykse “kCn gS%
(A) y?kq (B) Nksvk
(C) vuqt (D) dfu’B

39. ^vieku^ dk foykse “kCn gS%
(A) ekuo (B) vlqj
(C) izfl) (D) lEeku

40. ^va”k^ dk i;kZ;okph “kCn ugha gS %
(A) vo;o (B) vax
(C) val (D) i{k

PART-I  HINDI
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Directions (31 -32) : In each of the following questions,

there are four different words out of which one is

correctly spelt. Find the correctly spelt word :

31.

(A) Saimultaneous

(B) Simultaenous

(C) Simultaneous

(D) Simultanious

32.

(A) Fortuneate (B) Fortuneit

(C) Forchunate (D) Fortunate

Directions (33-34) : In the following questions, some parts

of the sentences have errors and some have none.

Find out which part of a sentence has an error. If a

sentence is free from error, then your answer is (D),

i.e. No Error :

33. (A) She has not completed

(B) her course

(C) Isn’t is

(D) No error

34. (A) Every citizen is

(B) Entitled to

(C) The voting

(D) No error

Directions (35-36) : In each of the following questions,

sentences are given with blanks to be filled in with

an appropriate word(s). Four alternatives are

suggested for each question. Choose the correct

alternative as your answer :

35. She is ......... of lizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

36. The priest was innocent ...................... he could not

prove it :

(A) and (B) but

(C) for (D) so

Direction (37-38) : From the given alternatives in each

question, select the word which is opposite in

meaning of the underlined word :

37. Fluent :

(A) Inappropriate (B) Halting

(C) Degrading (D) Insensitive

38. Reluctant:

(A) Hesitant (B) Reserved

(C) Anxious (D) Willing

Directions (39-40) : In each of the following questions, a

part of the sentence is printed in bold. Below are

given alternatives to the bold part at (A), (B), (C)

which may improve the sentence. Choose the correct

alternative. In case no improvement is needed your

answer is (D) :

39. I brushed my teeth every day at 7 O’clock in

the morning :

(A) I brushes my teeth every day at 7 O’clock in

the morning

(B) I brush my teeth every day at 7 O’clock in the

morning

(C) I brush my tooth every day at 7 O’clock in the

morning

(D) No improvement

40. Only me I can solve the problem :

(A) Only me can

(B) Only I can

(C) I can only

(D) No improvement

PART-I  ENGLISH
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PART-II ELECTRICIAN

41. A transformer with output of 250 KVA at 3000 V,

has 600 turns on its primary side and 60 tums on

the secondary winding. What will be the voltage at

primary side :

(A) 300 V (B) 30000 V

(C) 30 V (D) 3 x 105 V

42. An ordinary tube light used for lighting purpose

contains:

(A) Fluorescent material and inert gas

(B) One filament, reflective material and mercury

vapour

(C) Fluorescent material and mercury vapour

(D) Two filaments, fluorescent material and

mercury vapour

43. The eddy current losses in the transformer occurs in

the :

(A) Primary winding (B) Core

(C) Secondary winding (D) None of these

44. The condition for maximum efficiency of the

transfomer is that :

(A) Copper losses are half the iron losses

(B) Copper losses are equal to the square of the

iron losses

(C) Copper losses are equal to the iron losses

(D) Copper losses are zero

45. Copper as conductor for cables is used as :

(A) Hard dram

(B) Annealed

(C) Hardened & tempered

(D) Alloy with chromium

46. The segments of the commutator of a D.C machine

are insulated from each other by :

(A) Rubber (B) Porcelain

(C) Mica (D) Varnish

47. Which of the following motor has high starting

torque:

(A) d.c. shunt motor (B) d.c. series motor

(C) Both (A) and (B) (D) None of the above

41. ,d VªkalQkeZj ftldk mRiknu 250 KVA 3000 V,

oksYV ij izkFkfed igyw esa 600 pDdj vkSj fnR;d
igyw ds ?kqeko esa 60 pDdj gS A izkajfHkd igyw dk
oksYVst+ D;k gksxk %
(A) 300 oksYV (B) 30000 oksYV
(C) 30 oksYV (D) 3 x 105 oksYV

42. ,d lk/kkj.k V;wc ykbV ds fy, mi;ksx esa ykbZ
tkrh gS%
(A) nhIr lkexzh vkSj vfØe xSl
(B) ,d rarq] ijorZu lkexzh vkSj ejdjh ok’i
(C) nhIr lkexzh vkSj ejdjh ok’i
(D) nks rarq nhIr lkexzh vkSj ejdjh ok’i

43. VªkalQkeZj esa ,Mh djUV gkuh dgk¡ gksrh gS%
(A) izkFkfed izokg (B) dsUnz Hkkx
(C) f}R;d izokg (D) buesa ls dksbZ ugha

44. VªkalQkeZj dh lcls vf/kd {kerk okyh fLFkfr gS%
(A) rk¡cs dh gkfu yksgs dh gkfu dk vk/kk gS
(B) ,d oxZ yksgs dh gkfu cjkcj gS rk¡cs dh gkfu ds
(C) rk¡cs dh gkfu cjkcj gS yksgs dh gkfu ds
(D) rk¡cs dh gkfu “kwU; gS

45. fctyh dh rkjksa esa dkWij pkyd ds :i esa iz;ksx
fd;k tkrk gS %
(A) etcwr vk;ru
(B) ,fu;kysM (rkikuq”khfrr)

(C) dM+kiu ,oa yphykiu (/kkrq dks xje o BM+k
djds dBksj vkSj yphyk cukuk)

(D) feJ/kkrq Øksfe;e ds lkFk

46. fLop dk og Hkkx ftlls fo|qr /kkjk dh fn”kk cny
nh tkrh gS] ,d &nwljs ls jksf/kr gksrh gS%
(A) jcM+ (B) isklZfyu
(C) ekbdk (D) ofuZ”k

47. fuEufyf[kr esa dkSu lh eksVj esa lcls vf/kd
vk?kw.kZ cy gS%
(A) Mh-lh- “kaV eksVj (B) Mh-lh- J`a[kyk eksVj
(C) (A) vkSj (B) nksuksa (D) buesa ls dksbZ ugha
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48. The number of parallel paths in wave wound

armature are :

(A) Equal to the number of poles of the machine

(B) Equal to two, irrespective of the number of poles

(C) Equal to number of communtator segments

(D) Equal to number of armature conductors

49. Which of the following motor is used to drive. The

constant speed line shafting, lathes, blowers and

fan?

(A) d.c. shunt motor

(B) d.c. series motor

(C) Comulative compound motor

(D) None of the above

50. In a D.C. machine iron losses occur in :

(A) The yoke (B) The pole shoe

(C) The armature (D) The field

51. In a balanced 3-phase, star connected system, the

relation between phase voltage (V
ph

) and line

voltage (V
L
) is :

(A) Lph VV 3

(B) V
Ph

=0.577 V
L

(C)
2
L

Ph

V
V 

(D) None of the above

52. A 3-Phase load is said to be balanced load, if all

the three phase have the same :

(A) Impedance

(B) Power factor

(C) Both (A) and (B)

(D) None of the above

53. In two wattmeter method of 3-phase power

measurement in balanced load having 0.5 P.F

lagging :

(A) One watt meter reads zero

(B) One watt meter reads down scale

(C) Both the watt meter read equally

(D) Both the watt meter give equal but opposite

readings

48. ,d rjax esa lekukadj iafDr dh la[;k (armature)

vkesZpj dks ?kqekrh gS
(A) e”khu ds /kqozks dh la[;k ds leku
(B) nsk leku bjsZLisfDVo iksy dh la[;k ds leku
(C) dE;waVsVj  izjs.k dh la[;k ds leku
(D) vkesZpj [kaM dh la[;k ds leku

49. ,d fLFkj pky esa dkSu lh eksVj mi;ksx es ykbZ tkrh
gS eksVj dk MaMk] [kjkn e”khu] /kkSduh vkSj ia[kk
pykus es %
(A) Mh-lh- “kaV eksVj
(B) Mh-lh- J`a[kyk eksVj
(C) la;qDr ;kSfxd eksVj
(D) buesa ls dksbZ ugha

50. Mh-lh- e”khu esa yksgs dh gkfu mRiUu gksrh gS%
(A) ;ksd (B) /kzqo ij
(C) vkesZpj ij (D) {ks= ij

51. ,d larafyr 3& Qst esa LVkj lacaf/kr ;a=] Qst
oksYVst (V

ph
) vkSj ykbZu oksYVst+ (V

L
) esa laca/k gS%

(A) Lph VV 3

(B) V
Ph

=0.577 V
L

(C)
2
L

Ph

V
V 

(D) buesa ls dksbZ ugha

52. ,d 3& Qst+ Hkkj larqfyr Hkkj dgk tkrk gS ;fn
lHkh rhu Qst leku gks %
(A) izfrck/kk (;fn lfdZV esa foijhr fo|qr /kkjk

gks)
(B) fo|qr /kkjk dh lekurk
(C) (A) vkSj (B) nksuksa
(D) buesa ls dksbZ ugha

53. nks okWVehVj ;qfDr esa 3&Qst “kfDr ekih tkrh gS
0.5 P.F okys lraqfyr Hkkj esa %
(A) ,d okWVehVj dh f=T;k ij
(B) ,d okWVehVj Ldsy ij
(C) nksuksa okWVehVjksa dks cjkcj i<+k tk ldrk gS
(D) nksuksa okWVehVj cjkcj ijarq foijhr ikBk;kad

nsrs gS
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54. The stability of arc in vaccume depends upon the :

(A) Contact meterial only

(B) Contact material and vapour pressure

(C) Circuit parameters only

(D) Combination of (B) and (C)

55. The order of the lightning discharge current is :

(A) 10000 amp (B) 100 amp

(C) 1 amp (D) 1 micro amp

56. Phosphor bronze alloy is used for springs in

indicating instruments because the alloy has :

(A) Low resistance to fatigue

(B) Good magnetic property

(C) Low specific resistance

(D) High temperature coefficient of expansion

57. Rotor resistance starters are used with wound

rotor induction motor. When the motor is running

the resistance in the starter are :

(A) Open circuited

(B) Connected in star

(C) Shorted

(D) Connected in delta

58. While finding solution of AC circuit, vector

quantities are added or subtracted. One of the

method to solve these vector quantities is :

(A) Parallelogram method

(B) Scalar method

(C) Algebric method

(D) Numerical method

59. Before varnishing a newly wound motor, the

winding must be preheated. What is the purpose of

preheating :

(A) To help the varnish spreading easily

(B) To ensure that the winding can withstand that

temperature while working

(C) To drive out the moisture in between the wires

and layers

(D) To remove air in between wires and layers for

easy flow of varnish

54. fuokZr esa pki dh fLFkjrk fuHkZj djrh gS%
(A) dsoy lacaf/kr lkexzh ij
(B) lacaf/kr lkexzh vkSj ok’o nkc ij
(C) dsoy fo|qr ifjiFk ds ekinaM ij
(D) (B) vkSj (C) dk lfeJ.k

55. rfM+r izokg fo|qr/kkjk dk fMlpkZt fdruk gksrk gS%
(A) 10000 vika;j (B) 100 vika;j
(C) 1 vika;j (D) 1 ekbØks & vika;j

56. QkLQksj czksta /kkrq lwpd ;a= esa fLizax ds fy, iz;ksx
esa ykbZ tkrh gS D;ksafd %
(A) de izfrjks/k
(B) mÙke pqacdh; xq.k
(C) de visf{kr izfrjks/k
(D) vf/kd rki xq.kd ds foLrkj

57. ?kqekonkj v?kw.kZ izjs.k eksVj esa v?kw.kZ izfrjks/k LVkVZj
mi;ksx esa yk, tkrs gSA tc eksVj izfrjks/k ls pyrh
gS rks LVkVZj gksrs gS %
(A) [kqys fo|qr ifjiFk
(B) LVkj esa tqM+us ls
(C) “kkWV lfdZV
(D) MsYVk ls tqM+us okys

58. ,-lh- fo|qr ifjiFk dk gy <w¡<us ls lfna”k xq.k tqM+rs
vkSj ?kVrs gSA lafn”k xq.k dk gy fudkyus dk ,d
rjhdk gS %
(A) lekUrj prqHkZth; rjhdk
(B) vfn”k rjhdk
(C) chtxf.kr; rjhdk
(D) vadu rjhdk

59. ubZ ?kqekonkj eksVj dh ofuZf”kax ls igys okbfMax dks
xeZ djuk pkfg,A bl dk mís”; gS
(A) ofuZ”k Lora=rk ls QSykus esa enn djs
(B) ;g lqfuf”pr djsa fd dk;Z ds nkSjku okbfMax

rki ds lkFk Bgjrh gS
(C) rkjksa vkSj ijrksa ds e/; dh ueh fudkyrs gS
(D) ofuZ”k ds cgko ds fy, rkjksa vkSj ijrksa esa ls

gok gVkrs gS
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60. On inspection, the commutator of a DC generator

was found badly worn out. Sand papering is of no

use. The best thing to do is to :

(A) Turn the commutator on a lathe

(B) Clean the commutator with CTC

(C) Replace the commutator

(D) Replace the armature

61. AC changes in value and direction periodically. This

tends to make the current flow along the outer

surface of the conductor. This phenomenon is know

as :

(A) Maxwell’s effect

(B) Eddy current effect

(C) Hystereris effect

(D) Skin effect

62. You have to change the defective motor of an

electric locomotive. Which type of motor would you

choose?

(A) DC shunt motor

(B) Separately excited motor

(C) DC differential compound motor

(D) DC series motor

63. Which one of the following is not applicable to

capacitor type table fan motor ?

(A) Auxiliary winding

(B) Shading ring

(C) Main winding

(D) Condenser

64. One of the reason for charging penalty for

drawing power at low PF is :

(A) Line voltage and frequency drops

(B) Current drawn from mains will be higher

(C) Power drawn by the consumer will be less

than the senctioned power

(D) Energy meter will run slow indicating lower

power consumption

65. The maximum value of sine wave AC voltage is

10V. What is the rms value :

(A) 1.732 V (B) 7.070 V

(C) 3.142 V (D) 1.414 V

60. fujh{k.k ds nkSjku Mh-lh- tujsVj dk fnDifjorZd
cqjh n”kk esa ik;k x;kA jsxekWy dk dksbZ mi;ksx ughs
gSA blds fy, lcls mÙke fof/k gS%
(A) fnDifjorZd dks [kjkn dh e”khu ij pykuk
(B) lh-Vh- lh- ls fnDifjorZd dks lkQ+ djuk
(C) fnDifjorZd dks cnyuk
(D) vkesZpj dks cnyuk

61. ,-lh- dk eku vkSj fn”kk le;&le; ij cnyrk gS
;g pkyd dh Hkkjh ijr fo|qr ds izokg esas lgk;d
gksrh gSA ;g rF; dgykrk gS%
(A) eSDloSy izHkko
(B) ,Mh fo|qr /kkjk izHkko
(C) fgfLVªfll izHkko
(D) Ropk izHkko

62. ;fn vkidks fo|qrh; batu dh eksVj cnyuh gSA vki
fdl izdkj dh eksVj dk p;u djsaxs %
(A) Mh-lh- vyx /kdsyus okyh eksVj
(B) mÙkstuk eksVj
(C) Mh-lh- vraj ;kSfxd eksVj
(D) Mh-lh- J`a[kyk eksVj

63. fuEu esa dkSu lk dSisflVj est] ia[kk vkfn dh eksVj
ds fy, mi;qDr ugha gksrk %
(A) ?kqekonkj okbfMax
(B) “ksfMax okbfMax
(C) eq[; okbfMax
(D) daMsulj

64. fuEu PF ij “kfDr cgkus gsrq izHkkjh naM dk ,d
dkj.k gS %
(A) ykbu oksYVst+ vkSj vko`fr cw¡nsa
(B) tks fo|qr izeq[k (esu) esa cgrh gS] og vf/kd

gksxh
(C) miHkksDrk ls izkIr dh xbZ “kfDr LohÑfr “kfDr

ls de gksxh
(D) mtkZ ehVj de nkSM+rk gS vkSj de “kfDr

[kir n”kkZrk gS

65. Sine rjax dk vf/kdre eku ,-lh- okWYVst 10V gSA
rms eku D;k gksxk %
(A) 1.732 V (B) 7.070 V

(C) 3.142 V (D) 1.414 V
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66. Breather-DC-hydrating material used inside to

prevent moisture entering the transformer is :

(A) Copper sulphate

(B) Sodium chloride

(C) Sodium Sillicate

(D) Sillica gel

67. Instruments which must not be used in the circuit

when the power is on :

(A) Ohm meter and Megger

(B) Phase sequence meter and energy meter

(C) Frequency meter and tong tester

(D) Wattmeter and PF meter

68. The motors used for electric clocks and timing

devices are :

(A) Self excited single phase synchronous motor

(B) External excited single phase synchronous

motor

(C) Non-excited single phase synchronous motors

(D) Saprately excited single phase synchronous

motor

69. Potential transformers are used to connect :

(A) Voltmeters to the primary of transformer

(B) Intruments to bus bar of distribution panel

(C) Voltmeters to high voltage lines

(D) Energy meters to low voltage lines

70. A 10-Volt coil has a resistance of 25 . The coil

was re-wound with 0.224 mm dia wire which has

0.45   per meter. The length of wire used is 50m.

What is the change in resistance of re-wound coil?

(A) 6.5  (B) 4.5 

(C) 2.5  (D) 9.5 

66. czhnj&Mh-lh- gkbMªsfVax lkexzh VªklQkeZj ds vanj

ueh dks tkus ls jksdus esa mi;ksx dh tkrh gS%

(A) dkWij lYQsV

(B) lksfM;e DyksjkbM

(C) lksfM;e flfydsV

(D) flfydk tSy

67. tc fo|qr /kkjk fujraj cg jgh gks rks fo|qr ifjiFk esa

fdl ;a= dk mi;ksx ugh djuk pkfg, %

(A) vksge ehVj vkSj eSxj

(B) Qst+ Øfed ehVj vkSj mtkZ ehVj

(C) vko`fr ehVj vkSj fpeVk ijh{k.k

sa (D) okWVehVj vkSj ih-,Q-ehVj

68. fo|qrh; ?kM+h vkSj le; midj.k ds fy, eksVj

mi;ksx dh tkrh gS

(A) Lo mÙksftr ,dy Qst eksVj

(B) ckgjh mÙksftr ,dy Qst eksVj

(C) xSj mÙksftr ,dy Qst eksVj

(D) i`Fkd mÙksftr ,dy Qst eksVj

69. fLFkfrt VªkalQkeZj dk mi;ksx fd;k tkrk gS] tksM+us

esa %

(A) oksYVehVj dk izkbejh VªkalQkeZj ds lkFk

(B) forj.k iSuy dk ^cl ckj ;a=^

(C) vf/kd oksYVst ykbu okys oksYVehVj

(D) de oksYVst ykbu okys oksYVehVj

70. ,d 10 oksYV dh daqMyh dk izfrjks/k 25  gSA

dqaMyh dks nqckjk 0.224 mm ds O;kl dh rkj ls

?kqek;k x;k tks 0.45   izfr0eh0 gS 50 eh0 rkj

dh yEckbZ iz;ksx dh xbZA iqu% ?kqekonkj dqaMyh ds

izfrjks/k esa cnyko vk,xk %

(A) 6.5  (B) 4.5 

(C) 2.5  (D) 9.5 
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71. On a overhauling operation it was found that the
motor is equiped with ‘sealed’ bearings. The
bearings will require :
(A) Lubrication at intervals of 6 months
(B) Lubrication at intervals of 1 month
(C) No Lubrication during its life service
(D) Lubrication at interval of  one year

72. You are testing a power capacitor using Ohm meter.

The capacitor is in good condition only when the

pointer moves to :

(A) Zero and then slowly to infinity position
(B) Infinity position and remain there
(C) Zero position and remain there
(D) Infinity position and then to zero position

73. Sweep of ceilling fan refers to :
(A) Double the distance from center of motor to tip

of blade
(B) The distance from centre of motor to tip of blade
(C) Double the length of blade
(D) Radius of circle formed by its rotation

74. The resistance of a conductor of diameter ‘d’ and

length ‘ ’ is ‘R’ Ohms. If the diameter of the

conductor is halved and its length is doubled, the
resistance of the conductor is :
(A) R Ohms (B) 2 R Ohms
(C) 4R Ohms (D) 8 R Ohms

75. The resistivity of the conductor depends on the  :
(A) Area of conductor
(B) Length of the conductor
(C) Type of material
(D) None of these

76. The current flowing in a series circuit having four
equal resistors is I amperes. What is the magnituds
of the current if 4 resistances are connected in
parallel ?
(A) 0.25I (B) I
(C) 4I (D) 8I

77. A capacitor carries a charge of 0.15 C at 10V. Its
capacitance is :
(A) 0.015F (B) 1.5F
(C) 1.5  F (D) None of these

71. ehVj ds vksoj gkWfyax vkWizs”ku esa ik;k x;k fd
eksVj lhy fc;fjax ls lfTtr gSA fc;fjax dh
vko”;drk gksxh %
(A) Ng eghus ds varjky esa rsy Mkyuk
(B) ,d eghus ds varjky esa rsy Mkyuk
(C) bldh iwjh ftnaxh rsy u Mkyuk
(D) ,d lky ds varjky esa rsy Mkyuk

72. vki vksg~e ehVj ds }kjk la?kkfj= dh “kfDr dk
ijh{k.k dj jgs gSA la?kkfj= vPNh fLFkfr esa rHkh
jgrk tc lwpd pyrk gS%
(A) “kwU; ,oa /khjs ls vuar fLFkfr rd
(B) vuar fLFkfr vkSj “ks’k
(C) “kwU; fLFkfr vkSj “ks’k
(D) vuar fLFkfr vkSj “kwU; fLFkfr rd

73. Nr okys ia[ks dk pDdj ladsr djrk gS%
(A) eksVj ds dsanz vkSj CysM ds “kh’kZ ls nqxquh nwjh
(B) eksVj ds dassnz vkSj CysM ds “kh’kZ ls nwjh
(C) CysM dh yackbZ dk nqxq.kk
(D) mlds ,d pDDj ls o`r dh f=T;k curh gS

74. ,d fo|qr pkyd dk izfrjks/k ftldk O;kl ‘d’

vkSj ‘  ’ yackbZ vkSj izfrjks/k ‘R’ vksg~e gS ;fn dk
O;kl vk/kk dj ns rks fo|qr pkyd dk izfrjks/k
gS %
(A) R vksg~e (B) 2 R vksg~e
(C) 4R vksg~e (D) 8 R vksg~e

75. fdlh fo|qr pkyd dh izfrjks/kdrk fuHkZj djrh gS%
(A) pkyd ds {ks=Qy ij
(B) pkyd dh yackbZ ij
(C) lkexzh ds izdkj ij
(D) buesa ls dksbZ ugha

76. ,d ,Eih;j ds pkj cjkcj izfrjks/k eas Js.kh ifjiFk
ij fo|qr /kkjk cg jgh gSA ;fn 4 izfrjks/k
lkekUrj tksM+rs gS rks fo|qr /kkjk dk ifjeku
gksxk%
(A) 0.25I (B) I
(C) 4I (D) 8I

77. ,d la?kkfj= esa 10V esa 0.15 C vkos”k cgrk gS]
mldh /kkfjrk gS %
(A) 0.015F (B) 1.5F

(C) 1.5 F (D) buesa ls dksbZ ugha
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78. To obtain a high value of capacitance the
permitivity of the dielectric material should be :
(A) Low (B) Medium
(C) High (D) That of air

79. One Farad is equal to :

(A) 1 (B) 1 V/C
(C) 1C/V (D) None of these

80. The unit of resistivity is :

(A)  (B)  /m

(C)  /m2 (D)  -m

81. When more than one equipment is to be earthed :

(A) Parallel connection should invariably be used
(B) Series connection should invariably be used
(C) Either (A) or (B)
(D) None of the above

82. Fuse is always connected :
(A) In series with the circuit to be protected
(B) In parallel with the circuit to be protected
(C) Either (A) or (B)
(D) None of the above

83. The material used for fuse must have :
(A) Low melting point and low specific resistance
(B) Low melting point and high specific resistance
(C) High melting point and low specific resistance
(D) Low melting point with any specific resistance

84. Magnetic flux has the unit of :
(A) Newton (B) Ampere turns
(C) Coulomb (D) Weber

85. The Right hand rule for determining the direction
of induced emf enunciated by :
(A) Faraday (B) Loz
(C) Fleming (D) Maxwell

86. From economy point of view, mostly the wiring
employed in residential building is :
(A) Cleat wiring
(B) Casing-capping wiring
(C) C.T.S. wiring
(D) Conduit wiring

78. la?kkfj= dk mPp eku izkIr djus ds fy, <k¡drk
gqvk vlokgd inkFkZ gksuk pkfg, %
(A) fuEu (B) e/;e
(C) mPp (D) gok ds dkj.k

79. ,d QSjkWM cjkcj gS%

(A) 1 (B) 1 V/C
(C) 1C/V (D) buesa ls dksbZ ugah

80. izfjks/kdrk dk ek=d gS %

(A)  (B)  /m

(C)  /m2 (D)  -m

81. tc ,d ls vf/kd midj.k fo|qr ifjiFk dks i`Foh
ls tksM+rs gS%
(A) fLFkj lkekarj laca/k mi;ksx djus pkfg,
(B) fLFkj Js.kh laca/k mi;ksx djus pkfg,
(C) (A) ;k (B)
(D) buesa ls dksbZ ugha

82. ¶;wt+ ges”kk tqM+rk gS %
(A) ml Js.kh esa tgk¡ ifjiFk lqjf{kr jgrk gS
(B) lekukarj esa tgk¡ ifjiFk lqjf{kr jgrk gS
(C) (A) ;k (B) nksuksa
(D) buesa ls dksbZ ugha

83. tks lkexzh ¶;wt+ ds fy, mi;ksx gksrh gS mlesa %
(A) de xyukad vkSj de visf{kd izfrjks/k
(B) de xyukad vkSj vf/kd visf{kd izfrjks/k
(C) vf/kd xyukad vkSj de visf{kd izfrjks/k
(D) de xyukad visf{kd izfrjks/k ds lkFk

84. pqEcdh; izokg dh bZdkbZ gS %
(A) U;wVu (B) ,Eih;j pDdj
(C) dwykWe (D) oScj

85. izsfjr emf dh fn”kk O;Dr djus esa nk,¡ gkFk fu;e dk
fu/kkZj.k djrk gS%
(A) QSjkWMs (B) ykst+
(C) ¶ysfeax (D) eSDloSy

86. vkfFkZd n`f’V ls ?kjsyw edkuksa esa vf/kdrj rkjsa yxkbZ
tkrh gS%
(A) dyhV rkjsa
(B) vkoj.k dSfix rkjsa
(C) lh Vh ,l rkjsa
(D) ikbiykbu rkjsa
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87. How many coils are required in a Megger :
(A) One (B) Two
(C) Three (D) Four

88. The wattmeter :
(A) Has three connections two of which are used at

a time
(B) Can measure dc power output but not 60 c/s.

a.c power
(C) Has voltage and current coils to measure the

real power
(D) Only measure apparent power

89. The dynamometer wattmeter can be used to

measure :

(A) a.c power

(B) d. c power

(C) a.c or d  power

(D) a.c power in only circuits

90. The controlling torque in an indicating instrument :

(A) Brings the pointer back to the zero position

when instrument is disconnected

(B) Controls the diflection and tries to stop the

pointer at its final position where diflecting

torque is equal to controlling torque

(C) Reduces the oscillations of pointer and quickly

brings the pointer to its final position

(D) Both (A) and (B)

91. The two laws that forms the basis of circuit

analysis were enunciated by :

(A) Faraday (B) Ohm

(C) Bohr (D) Kirchoff

92. Maximum speed of a synchronous machine for 50

H
z
 :

(A) 1500 r.p.m. (B) 3000 r.p.m.

(C) 20000 r.p.m. (D) 3000 r.p.m.

93. When a conductor is moved inside a uniform

magnetic field :

(A) It experiences a force

(B) An emf is induced

(C) A current flows through it

(D) A flux is produced

87. eSxj esa fdruh dk;¡y gksrh gS%
(A) ,d (B) nks
(C) rhu (D) pkj

88. okWVehVj %
(A) okWVehVj ds rhu laca/k gS] ,d le; esa nks

mi;ksx gksrs gS
(B) fctyh mRiknu dks ekirk gS] ,-lh- dh 60 c/s

ikoj dks NksM+ dj
(C) oksYVst+ vkSj djaV okyh rkjsa okLrfod “kfDr

ekius ds fy, gksrh gS
(D) dsoy izR;{k “kkfDr ekirs gS

89. MkbuksehVj okVehVj ekius ds fy, mi;ksx dj
ldrs gS%
(A) ,-lh- ikoj
(B) Mh-lh- ikoj
(C) ,-lh- vkSj Mh-lh ikoj
(D) ,-lh- ikoj dsoy 1-  lfdZV esa

90. lwpd ;a= esa fu;a=.k gksrk gS%
(A) tc ;a= dk laca/k gVk fn;k tkrk gS rks lwpd

“kwU; fLFkfr esa vk tkrk gS
(B) fo{ksi.k fu;=a.k mldh vafre fLFkfr ij fu;a=.k

djrk gS vkSj lwpd can djus dh dksf”k”k djrk
gS tgk¡ vk?kw.kZ cy ds fu;=ad ls fo{ksfir vk?kw.kZ
cy cjkcj gks

(C) lwpd dk nkSyu de vkSj rst djrk gS vkSj
lwpd dks vafre fLFkfr esa ykrk gS

(D) (A) vkSj (B) nksuksa

91. fo|qr ifjiFk ds vk/kkj dk fo”ys’kd O;Dr djus
esa nks fu;e cukrs gS%
(A) QSjkWMs (B) vksg~e
(C) cksgj (D) fdjpkWQ

92. vf/kdre pky ,d fludksjksul e”khu ds fy,
50 H

z
  ij gS %

(A) 1500 vkj-ih-,e- (B) 3000 vkj-ih-,e-
(C) 20000 vkj-ih-,e- (D) 3000 vkj-ih-,e-

93. tc ,d pkyd leku pqcdh; {ks= esa tkrk gS rks %
(A) cy dk vuqHko djrk gS
(B) izsfjr gksrk gS
(C) fo|qr /kkjk cgrh gS
(D) fo|qr izokg mRiUu gksrk gS
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94. The rotor of squirrel cage induction motor is

skewed because :

(A) It reduces humming thus ensures quite running

(B) It results in a smoother torque curves

(C) It reduces the magnetic locking of stator and

rotor

(D) All of above

95. The alternating current system was put into

practical use in :

(A) 1820 (B) 1880

(C) 1866 (D) 1896

96. A direct current of 1 ampere flowing through a

resistance an alternating circiut current flows through

the resistance,  of heat is produced by :

(A) Maximum current

(B) Effective current

(C) Average current

(D) None of these

97. The root mean square value of an alternating

quantity is another name for its :

(A) Instataneous value

(B) Peak value

(C) Effective value

(D) Average value

98. The form factor of alternating quanity is given by :

(A) Average value/RMS value

(B) Average value/Maximum value

(C) RMS/value/Average value

(D) RMS value/Maximum value

99. Blinking of fluorescent tube may be due to :

(A) Low circuit voltage

(B) Low ballast rating

(C) Low temperature

(D) Any of the above

94. Ldok;y dst ?kw.kZda izjs.k eksVj frjNk gksrk gS
D;kssfd %
(A) xquxqukgV dks de djrk gS rkfd vklkuh ls

py lds
(B) og ifj.kke nsrk gS ,d lery v/kw.kZ eksM+ ij
(C) og LVkVZj ds pqacdh; izHkko vkSj v/kw.kZ dks de

djrk gS
(D) fn, x, lHkh

95. foijhr fo|qr /kkjk iz.kkyh dks iz;ksxkRed iz;ksx es
dc yk;k x;k gS%
(A) 1820 (B) 1880

(C) 1866 (D) 1896

96. ,d ,Eih;j dh lh/kh fo|qr /kkjk ,d izfrjks/k esa  cg
dqN ek=k] Å’ek dh mRiUu djrh gSA ;fn fdlh
foijhr fo|qr ifjiFk esa fo|qr/kkjk izfrjks/k esa ls
cgrh gS rks leku Å’ek dh ek=k gksrh gS%
(A) vf/kdre /kkjk izokg
(B) izHkkfor /kkjk }kjk
(C) vkSlr /kkjk }kjk
(D) buesa ls dksbZ ugha

97. oxZewy dk vfHkizk; gS foijhr ek=k dk oxZ dk
eku nwljs uke ls tkuk tkrk gS %
(A) rkRdkfyd eki
(B) vf/kdre eku
(C) izHkkfor eku
(D) vkSlr eku

98. foijhr ek=k dh ?kVd fof/k fuEu ds }kjk nh tkrh
gS%
(A) vkSlr eku@RMSeku
(B) vkSlr eku@vf/kdre eku
(C) vkj-,l-,l eku@vkSlr eku
(B) vkj-,l-,l eku@vf/kdre eku

99. izfrnhIr V;wc ds >idus dk dkj.k gS %
(A) de oksYVst fo|qr ifjiFk
(B) de foLQksVd nj
(C) de rkieku
(D) buesa esa ls dksbZ Hkh
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100. The safety fuse should have :

(A) High resistance and high melting point

(B) High resistance and low melting point

(C) Low resistance and high melting point

(D) Low resistance and low  melting point

100. lqj{kk Q;wt+ gksuk pkfg, %
(A) mPp izfrjks/kdrk vkSj mPp xyukad
(B) mPp izfrjks/kdrk vkSj de xyukad
(C) de izfrjks/kdrk vkSj mPp xyukad
(D) de izfrjks/kdrk vkSj de xyukad
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1. The ‘Akaal Takht’ was built by :

(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

2.   Who was the regent of Akbar in his early days ?

(A) Abul Fazl (B) Bairam Khan

(C) Mansingh (D) Todarmal

3. Vikram Sarabhai Space Centre (VSSC) is located

at :

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

4.  Farookh Engineer played his last Cricket Test match

at his home ground. Where did he play his last Test

match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

5.  The headquarter of the Indian Mountaineering

Foundation is  located at :

(A) Kolkata (B) Darjeeling

(C) New Delhi (D) Dehradun

6. The Territorial Army was established in :

(A) 1962 (B) 1948

(C) 1920 (D) 1953

7.     Bijapur is known for  :

(A) Severe drought Area

(B) Gol Gumbaz

(C) Heavy rainfall Area

(D) Statue of Gomateswara

8. Light from the Sun reaches us in nearly :

(A) 2 minutes (B) 4 minutes

(C) 8 minutes (D) 16 Seconds

1. ^vdkyr[r^ dk fuekZ.k fdlus djk;k Fkk\
(A) xq: jkenkl
(B) xq: rsxcgknqj
(C) xq: gjxksfoan
(D) xq: ukud

2. izkjafHkd dky es vdcj dk fliglkykj dkSu Fkk\
(A) vcqy Qt+y (B) cSje[kk¡
(C) ekuflga (D) VksMjey

3. foØe lkjkHkkbZ varfj{k dsUnz dgk¡ fLFkr gS\
(A) fr#oariqje (B) eqEcbZ
(C) gSnjkckn (D) caxys#

4. Qk#[k+ bathfu;j us viuk vafre fØdsV VsLV eSp
vius ?kjsyw&eSnku ij [ksykA fuEufyf[kr esa ls dgkW
mUgksaus viuk vfre VsLV eSp [ksyk\
(A) fnYyh (B) dydÙkk
(C) gSnjkckn (D) eqEcbZ

5. Hkkjrh; ioZrkjksg.k QkamMs”ku dk eq[;ky; dgk¡
fLFkr gS\
(A) dydÙkk (B) nkftZfyax
(C) ubZ fnYyh (D) nsgjknwu

6. VsjhVksfj;y vkehZ dh LFkkiuk dc gq;h Fkh\
(A) 1962 (B) 1948

(C) 1920 (D) 1953

7. chtkiqj fdlds fy;s tkuk tkrk gS\
(A) Hkh’k.k lw[kkxzLr {ks=
(B) xksy xqEcn
(C) vfr o`f’V okyk {ks=
(D) xksers”oj dh izfrek ds fy;s

8. lw;Z dk izdk”k ge rd fdruh vof/k esa igqaprk gS\
(A) 2 feuV (B) 4 feuV
(C) 8 feuV (D) 16 lsds.M

PART-I GENERAL AWARENESS / KNOWLEDGE
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9. Who among the following is present Chief Minister

of Manipur?

(A) Trivendra Singh Rawat

(B) N. Biren Singh

(C) Kiran Jiju

(D) Marry Kom

10. Which one of the following is not included while

estimating National Income through income method?

(A) Rent (B) Mixed incomes

(C) Pension (D) Undistributed profits

11. In a picture on wall Ram showed an old man and

said “his son is my  son’s uncle”. How is the old man

related to Ram?

(A) Father (B) Grandfather

(C) Brother (D) Uncle

12. Choose correct option in the place of question

mark (?) :

?

7

9

10

12

14

40

50

60

(A) 3 (B) 5

(C) 8 (D) 4

13. Evaluation of 83 x 82 x 8-5 is :

(A) 1 (B) 0

(C) 8 (D) None of these

14. Find the HCF of 54, 288, 360 :

(A) 18 (B) 36

(C) 54 (D) 108

15. What will be the LCM of 8, 24, 36 and 54 :

(A) 54 (B) 108

(C) 216 (D) 432

16. Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :

(A) Rs. 450 (B) Rs. 524

(C) Rs. 600 (D) Rs. 624

9. fuEufyf[kr esa ls euhiqj dk orZeku eq[;ea=h dkSu
gS\
(A) f=osUnz flag jkor
(B) ,u0 chjsu flag
(C) fdju ftTtw
(D) eSjh dke

10. vk; fl)kUr ij fd;s x;s vkdyu ds vuqlkj
jk’Vªh; vk; ds vuqeku esa fuEufyf[kr es ls fdldh
x.kuk ugha dh tkrh\
(A) fdjk;k (B) fefJr vk;
(C) isa”ku (D) vforfjr ykHk

11. nhokj ij yxs ,d fp= dks fn[kkdj jke us crk;k
fd bl o`) O;fä dk iq= esjs iq= dk pkpk gSA^^jke
dk o`) ls D;k lca/k gS %
(A) firk (B) izfirk
(C) HkkbZ (D) pkpk

12. iz”u (?) ds LFkku ij mfpr fodYi dk p;u
dhft;s %

?

7

9

10

12

14

40

50

60

(A) 3 (B) 5

(C) 8 (D) 4

13. 83 x 82 x 8-5 dk gy gS %
(A) 1 (B) 0

(C) 8 (D) mijksä esa dksbZ ugha

14. 54, 288, 360  dk egÙe lekiorZd Kkr dhft;s\
(A) 18 (B) 36

(C) 54 (D) 108

15. 8, 24, 36 vkSj 54 dk y?kqre lekiorZd Kkr dhft;s\
(A) 54 (B) 108

(C) 216 (D) 432

16. 5200  :i;s dh /kujkf”k ij 6 izfr”kr okf’kZd dh nj
ls nks o’kksZ dk lk/kkj.k O;kt fdruk gksxk\
(A) 450 :i;s (B) 524 :i;s
(C) 600 :i;s (D) 624 :i;s

PART-I  ELEMENTARY MATHEMATICS
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17. Rs. 1200 is lent out at 5% per annum simple interest

for 3 years. Find out what would be the amount

after 3 years ?

(A) Rs. 1380 (B) Rs. 1290

(C) Rs. 1470 (D) Rs. 1200

18. Rs. 2100 is lent out at compound interest of 5%

per annum for 2 years. Find out what would be the

amount after two years:

(A) Rs. 2300 (B) Rs. 2315.25

(C) Rs. 2310 (D) Rs. 2320

19. If CANDLE is written as EYPBNC, in certain code

then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HJCKGQ (D) KCHJUA

20. Choose the correct option in the place of question

mark (?) :

2

18

162

1458

4

?

196

1372

6

30

150

750

(A) 16 (B) 28

(C) 49 (D) 54

17. 1200 :i;s dh /kujkf”k 5 izfr”kr lk/kkj.k okf’kZd
O;kt dh nj ls rhu o’kksZ ckn fdruh gks tk;xh\
(A) 1380 :i;s (B) 1290 :i;s
(C) 1470 :i;s (D) 1200 :i;s

18. 2100 :i;s dh /kujkf”k 5 izfr”kr dh okf’kZd pØo`f)
O;kt nj ls nks o’kZ ckn fdruh gks tk;xh\
(A) 2300 :i;s (B) 2315.25 :i;s
(C) 2310 :i;s (D) 2320 :i;s

19. ;fn CANDLE  dks fdlh dwV (dksM) es EYPBNC

fy[krs gSa rks FLAMES dks mlh dwV esa D;k fy[ksxs\
(A) DJYKCQ (B) HNCOGU

(C) HJCKGQ (D) KCHJUA

20. iz”ufpUg dks mfpr fodYi ls iwjk dhft;s %

2

18

162

1458

4

?

196

1372

6

30

150

750

(A) 16 (B) 28

(C) 49 (D) 54

PART-I  ANALYTICAL APTITUDE, ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

Direction : (Q. No. 21-24) Choose the correct altenative
given to replace the Question mark (?) :

21. NUMERAL : UEALRMN : : ALGEBRA: ?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA

22. BDAC : FHEG : : NPMO : ?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS

23. FGID : OPQR : : BCDE : ?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM

funsZ”k % iz”u la0 21 &24 fn;s x;s fodYiksa esa lgh fodYi
dk p;u dhft;s tks iz”u fpUg dk LFkku ys lds %

21. NUMERAL : UEALRMN : : ALGEBRA: ?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA

22. BDAC : FHEG : : NPMO : ?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS

23. FGID : OPQR : : BCDE : ?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM
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24. PNLJ : IGLC  : : VTRP : ?
(A) QMKI (B) RSTU

(C) QSRC (D) RPOM

25. Find odd one out :

(A) Excel (B) Mouse

(C) Desktop (D) Key

26. Find out from the given option which is different?

(A) Naga (B) Bhil

(C) Garo (D) Brahmin

27. With which sport Dibeyendu Barua is asociated?

(A) Chess (B) Football

(C) Cricket (D) Shooting

Direction : In which answer figure specified components

of key figure are found ?

28. Key Figure:

Answer Figure :

(A) (B)

(C) (D)

Direction : In Q. No. 29 and 30 a related pair of words is
provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

29. ENQUIRE : ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

30. FERRY : BOAT : :
(A) Gondola : Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

24. PNLJ : IGLC  : : VTRP : ?
(A) QMKI (B) RSTU

(C) QSRC (D) RPOM

25. vlaxr dks Kkr dhft;s %
(A) ,Dlsy (B) ekml
(C) MsLdVki (D) dh

26. fn;s x;s fodYiksa esa vlaxr dk p;u dhft;s %
(A) ukxk (B) Hkhy
(C) xkjks (D) czkã.k

27. nscsUnq c#vk dk lca/k fdl [ksy ls gS\
(A) “krjat (B) QqVcky
(C) fØdsV (D) “kawfVx

funsZ”k % dkSu lh mÙkj vkÑfr esa leL;k vkÑfr ds fo”k’V
rRo fo|eku gS\

28. leL;k vkÑfr

mÙkj vkÑfr

(A) (B)

(C) (D)

funsZ”k % iz”u la0 29 &30 esa “kCnksa dk lacaf/kr tksM+k fn;k
x;k gSA fn, x;s fodYiksa esa ls ml tksM+s dks pqfu;s
tks dSfiVy esa fn;s x;s tksMs tSlk laca/k n”kkZrk gS%

29. ENQUIRE : ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

30. FERRY : BOAT : :
(A) Gondola : Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home
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31. ^”kojh ds csj^ dk vFkZ gS%
(A) Hkfä&Hkkouk ls nh gqbZ HksaV
(B) nku nsuk
(C) twBk Hkkstu djkuk
(D) viZ.k djuk

32. ^tks tUe ls va/kk gS^ mlds fy, ,d “kCn
dkSu&lk gS\
(A) lwjnkl (B) tUeka/k
(C) /k̀rjk’Vª (D) u”oj

33. ^tks ns[kus eas fiz; yxrk gS^ ds fy, ,d “kCn
dkSu&lk gS\
(A) vkd’kZd (B) eueksgd
(C) fiz;n”khZ (D) ikjykSfdd

funsZ”k iz0  34 ls 35  % fuEufyf[kr okD;ksa esa ftl va”k
esa =qfV gS] mls fpfàr dhft,%

34.

(A) izÑfr dh lkSna;Zrk
(B) fdl dk eu
(C) ugha gj ysrh
(D) dksbZ =qfV ugha

35.

(A) lTtuks ls fe=rk
(B) j[kus ls
(C) “kkafr feyrh gS
(D) dksbZ =qfV ugha

36. ^T;s’B^ dk foykse “kCn gS%
(A) y?kq (B) Nksvk
(C) vuqt (D) dfu’B

37. ^vieku^ dk foykse “kCn gS%
(A) ekuo (B) vlqj
(C) izfl) (D) lEeku

38. ^va”k^ dk i;kZ;okph “kCn ugha gS %
(A) vo;o (B) vax
(C) val (D) i{k

39. ^dey^ dk i;kZ;okph “kCn ugha gS %
(A) iadt (B) lkSjHk
(C) tyt (D) dat

40. ^gkFk dk eSy^ ls vFkZ gS %
(A) esgur dh dekbZ (B) lgt izkIr oLrq
(C) vR;Ur rqPN oLrq (D) ijekRek dh nsu

PART-I  HINDI
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Directions (31-32) : In the following questions, some parts

of the sentences have errors and some have none.

Find out which part of a sentence has an error. If a

sentence is free from error, then your answer is (D),

i.e. No Error :

31. (A) She has not completed

(B) her course

(C) Isn’t is

(D) No error

32. (A) Every citizen is

(B) Entitled to

(C) The voting

(D) No error

Directions (33-34) : In each of the following questions,

sentences are given with blanks to be filled in with

an appropriate word(s). Four alternatives are

suggested for each question. Choose the correct

alternative as your answer :

33. She is ......... of lizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

34. The priest was innocent ...................... he could not

prove it :

(A) and (B) but

(C) for (D) so

Direction (35-36) : From the given alternatives in each

question, select the word which is opposite in

meaning of the underlined word :

35. Fluent :

(A) Inappropriate (B) Halting

(C) Degrading (D) Insensitive

36. Reluctant:

(A) Hesitant (B) Reserved

(C) Anxious (D) Willing

Directions (37-38) : In each of the following questions, a

part of the sentence is printed in bold. Below are

given alternatives to the bold part at (A), (B), (C)

which may improve the sentence. Choose the correct

alternative. In case no improvement is needed your

answer is (D) :

37. I brushed my teeth every day at 7 O’clock in

the morning :

(A) I brushes my teeth every day at 7 O’clock in

the morning

(B) I brush my teeth every day at 7 O’clock in the

morning

(C) I brush my tooth every day at 7 O’clock in the

morning

(D) No improvement

38. Only me I can solve the problem :

(A) Only me can

(B) Only I can

(C) I can only

(D) No improvement

Directions (39 -40) : In each of the following questions,

there are four different words out of which one is

correctly spelt. Find the correctly spelt word :

39.

(A) Saimultaneous

(B) Simultaenous

(C) Simultaneous

(D) Simultanious

40.

(A) Fortuneate (B) Fortuneit

(C) Forchunate (D) Fortunate

PART-I  ENGLISH
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PART-II ELECTRICIAN

41. In a balanced 3-phase, star connected system, the

relation between phase voltage (V
ph

) and line

voltage (V
L
) is :

(A) Lph VV 3

(B) V
Ph

=0.577 V
L

(C)
2
L

Ph

V
V 

(D) None of the above

42. A 3-Phase load is said to be balanced load, if all

the three phase have the same :

(A) Impedance

(B) Power factor

(C) Both (A) and (B)

(D) None of the above

43. In two wattmeter method of 3-phase power

measurement in balanced load having 0.5 P.F

lagging :

(A) One watt meter reads zero

(B) One watt meter reads down scale

(C) Both the watt meter read equally

(D) Both the watt meter give equal but opposite

readings

44. The stability of arc in vaccume depends upon the :

(A) Contact meterial only

(B) Contact material and vapour pressure

(C) Circuit parameters only

(D) Combination of (B) and (C)

45. The order of the lightning discharge current is :

(A) 10000 amp (B) 100 amp

(C) 1 amp (D) 1 micro amp

46. Phosphor bronze alloy is used for springs in

indicating instruments because the alloy has :

(A) Low resistance to fatigue

(B) Good magnetic property

(C) Low specific resistance

(D) High temperature coefficient of expansion

41. ,d larafyr 3& Qst esa LVkj lacaf/kr ;a=] Qst
oksYVst (V

ph
) vkSj ykbZu oksYVst+ (V

L
) esa laca/k gS%

(A) Lph VV 3

(B) V
Ph

=0.577 V
L

(C)
2
L

Ph

V
V 

(D) buesa ls dksbZ ugha

42. ,d 3& Qst+ Hkkj larqfyr Hkkj dgk tkrk gS ;fn lHkh
rhu Qst leku gks %
(A) izfrck/kk (;fn lfdZV esa foijhr fo|qr /kkjk

gks)
(B) fo|qr /kkjk dh lekurk
(C) (A) vkSj (B) nksuksa
(D) buesa ls dksbZ ugha

43. nks okWVehVj ;qfDr esa 3&Qst “kfDr ekih tkrh gS 0.5

P.F okys lraqfyr Hkkj esa %
(A) ,d okWVehVj dh f=T;k ij
(B) ,d okWVehVj Ldsy ij
(C) nksuksa okWVehVjksa dks cjkcj i<+k tk ldrk gS
(D) nksuksa okWVehVj cjkcj ijarq foijhr ikBk;kad

nsrs gS

44. fuokZr esa pki dh fLFkjrk fuHkZj djrh gS%
(A) dsoy lacaf/kr lkexzh ij
(B) lacaf/kr lkexzh vkSj ok’o nkc ij
(C) dsoy fo|qr ifjiFk ds ekinaM ij
(D) (B) vkSj (C) dk lfeJ.k

45. rfM+r izokg fo|qr/kkjk dk fMlpkZt fdruk gksrk gS%
(A) 10000 vika;j (B) 100 vika;j
(C) 1 vika;j (D) 1 ekbØks & vika;j

46. QkLQksj czksta /kkrq lwpd ;a= esa fLizax ds fy, iz;ksx
esa ykbZ tkrh gS D;ksafd %
(A) de izfrjks/k
(B) mÙke pqacdh; xq.k
(C) de visf{kr izfrjks/k
(D) vf/kd rki xq.kd ds foLrkj
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47. Rotor resistance starters are used with wound

rotor induction motor. When the motor is running

the resistance in the starter are :

(A) Open circuited

(B) Connected in star

(C) Shorted

(D) Connected in delta

48. While finding solution of AC circuit, vector

quantities are added or subtracted. One of the

method to solve these vector quantities is :

(A) Parallelogram method

(B) Scalar method

(C) Algebric method

(D) Numerical method

49. Before varnishing a newly wound motor, the

winding must be preheated. What is the purpose of

preheating :

(A) To help the varnish spreading easily

(B) To ensure that the winding can withstand that

temperature while working

(C) To drive out the moisture in between the wires

and layers

(D) To remove air in between wires and layers for

easy flow of varnish

50. On inspection, the commutator of a DC generator

was found badly worn out. Sand papering is of no

use. The best thing to do is to :

(A) Turn the commutator on a lathe

(B) Clean the commutator with CTC

(C) Replace the commutator

(D) Replace the armature

51. AC changes in value and direction periodically. This

tends to make the current flow along the outer

surface of the conductor. This phenomenon is know

as :

(A) Maxwell’s effect

(B) Eddy current effect

(C) Hystereris effect

(D) Skin effect

47. ?kqekonkj v?kw.kZ izjs.k eksVj esa v?kw.kZ izfrjks/k LVkVZj
mi;ksx esa yk, tkrs gSA tc eksVj izfrjks/k ls pyrh
gS rks LVkVZj gksrs gS %
(A) [kqys fo|qr ifjiFk
(B) LVkj esa tqM+us ls
(C) “kkWV lfdZV
(D) MsYVk ls tqM+us okys

48. ,-lh- fo|qr ifjiFk dk gy <w¡<us ls lfna”k xq.k tqM+rs
vkSj ?kVrs gSA lafn”k xq.k dk gy fudkyus dk ,d
rjhdk gS %
(A) lekUrj prqHkZth; rjhdk
(B) vfn”k rjhdk
(C) chtxf.kr; rjhdk
(D) vadu rjhdk

49. ubZ ?kqekonkj eksVj dh ofuZf”kax ls igys okbfMax dks
xeZ djuk pkfg,A bl dk mís”; gS
(A) ofuZ”k Lora=rk ls QSykus esa enn djs
(B) ;g lqfuf”pr djsa fd dk;Z ds nkSjku okbfMax

rki ds lkFk Bgjrh gS
(C) rkjksa vkSj ijrksa ds e/; dh ueh fudkyrs gS
(D) ofuZ”k ds cgko ds fy, rkjksa vkSj ijrksa esa ls

gok gVkrs gS

50. fujh{k.k ds nkSjku Mh-lh- tujsVj dk fnDifjorZd
cqjh n”kk esa ik;k x;kA jsxekWy dk dksbZ mi;ksx ughs
gSA blds fy, lcls mÙke fof/k gS%
(A) fnDifjorZd dks [kjkn dh e”khu ij pykuk
(B) lh-Vh- lh- ls fnDifjorZd dks lkQ+ djuk
(C) fnDifjorZd dks cnyuk
(D) vkesZpj dks cnyuk

51. ,-lh- dk eku vkSj fn”kk le;&le; ij cnyrk gS
;g pkyd dh Hkkjh ijr fo|qr ds izokg esas lgk;d
gksrh gSA ;g rF; dgykrk gS%
(A) eSDloSy izHkko
(B) ,Mh fo|qr /kkjk izHkko
(C) fgfLVªfll izHkko
(D) Ropk izHkko
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52. You have to change the defective motor of an

electric locomotive. Which type of motor would you

choose?

(A) DC shunt motor

(B) Separately excited motor

(C) DC differential compound motor

(D) DC series motor

53. Which one of the following is not applicable to

capacitor type table fan motor ?

(A) Auxiliary winding

(B) Shading ring

(C) Main winding

(D) Condenser

54. One of the reason for charging penalty for

drawing power at low PF is :

(A) Line voltage and frequency drops

(B) Current drawn from mains will be higher

(C) Power drawn by the consumer will be less

than the senctioned power

(D) Energy meter will run slow indicating lower

power consumption

55. The maximum value of sine wave AC voltage is

10V. What is the rms value :

(A) 1.732 V (B) 7.070 V

(C) 3.142 V (D) 1.414 V

56. Breather-DC-hydrating material used inside to

prevent moisture entering the transformer is :

(A) Copper sulphate

(B) Sodium chloride

(C) Sodium Sillicate

(D) Sillica gel

57. Instruments which must not be used in the circuit

when the power is on :

(A) Ohm meter and Megger

(B) Phase sequence meter and energy meter

(C) Frequency meter and tong tester

(D) Wattmeter and PF meter

52. ;fn vkidks fo|qrh; batu dh eksVj cnyuh gSA vki
fdl izdkj dh eksVj dk p;u djsaxs %
(A) Mh-lh- vyx /kdsyus okyh eksVj
(B) mÙkstuk eksVj
(C) Mh-lh- vraj ;kSfxd eksVj
(D) Mh-lh- J`a[kyk eksVj

53. fuEu esa dkSu lk dSisflVj est] ia[kk vkfn dh eksVj
ds fy, mi;qDr ugha gksrk %
(A) ?kqekonkj okbfMax
(B) “ksfMax okbfMax
(C) eq[; okbfMax
(D) daMsulj

54. fuEu PF ij “kfDr cgkus gsrq izHkkjh naM dk ,d
dkj.k gS %
(A) ykbu oksYVst+ vkSj vko`fr cw¡nsa
(B) tks fo|qr izeq[k (esu) esa cgrh gS] og vf/kd

gksxh
(C) miHkksDrk ls izkIr dh xbZ “kfDr LohÑfr “kfDr

ls de gksxh
(D) mtkZ ehVj de nkSM+rk gS vkSj de “kfDr

[kir n”kkZrk gS

55. Sine rjax dk vf/kdre eku ,-lh- okWYVst 10V gSA
rms eku D;k gksxk %
(A) 1.732 V (B) 7.070 V

(C) 3.142 V (D) 1.414 V

56. czhnj&Mh-lh- gkbMªsfVax lkexzh VªklQkeZj ds vanj
ueh dks tkus ls jksdus esa mi;ksx dh tkrh gS%
(A) dkWij lYQsV
(B) lksfM;e DyksjkbM
(C) lksfM;e flfydsV
(D) flfydk tSy

57. tc fo|qr /kkjk fujraj cg jgh gks rks fo|qr ifjiFk esa

fdl ;a= dk mi;ksx ugh djuk pkfg, %

(A) vksge ehVj vkSj eSxj

(B) Qst+ Øfed ehVj vkSj mtkZ ehVj

(C) vko`fr ehVj vkSj fpeVk ijh{k.k

sa (D) okWVehVj vkSj ih-,Q-ehVj
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58. The motors used for electric clocks and timing

devices are :

(A) Self excited single phase synchronous motor

(B) External excited single phase synchronous

motor

(C) Non-excited single phase synchronous motors

(D) Saprately excited single phase synchronous

motor

59. Potential transformers are used to connect :

(A) Voltmeters to the primary of transformer

(B) Intruments to bus bar of distribution panel

(C) Voltmeters to high voltage lines

(D) Energy meters to low voltage lines

60. A 10-Volt coil has a resistance of 25 . The coil

was re-wound with 0.224 mm dia wire which has

0.45   per meter. The length of wire used is 50m.

What is the change in resistance of re-wound coil?

(A) 6.5  (B) 4.5 

(C) 2.5  (D) 9.5 

61. On a overhauling operation it was found that the

motor is equiped with ‘sealed’ bearings. The

bearings will require :

(A) Lubrication at intervals of 6 months

(B) Lubrication at intervals of 1 month

(C) No Lubrication during its life service

(D) Lubrication at interval of  one year

62. You are testing a power capacitor using Ohm meter.

The capacitor is in good condition only when the

pointer moves to :

(A) Zero and then slowly to infinity position
(B) Infinity position and remain there
(C) Zero position and remain there
(D) Infinity position and then to zero position

58. fo|qrh; ?kM+h vkSj le; midj.k ds fy, eksVj

mi;ksx dh tkrh gS

(A) Lo mÙksftr ,dy Qst eksVj

(B) ckgjh mÙksftr ,dy Qst eksVj

(C) xSj mÙksftr ,dy Qst eksVj

(D) i`Fkd mÙksftr ,dy Qst eksVj

59. fLFkfrt VªkalQkeZj dk mi;ksx fd;k tkrk gS] tksM+us

esa %

(A) oksYVehVj dk izkbejh VªkalQkeZj ds lkFk

(B) forj.k iSuy dk ^cl ckj ;a=^

(C) vf/kd oksYVst ykbu okys oksYVehVj

(D) de oksYVst ykbu okys oksYVehVj

60. ,d 10 oksYV dh daqMyh dk izfrjks/k 25  gSA

dqaMyh dks nqckjk 0.224 mm ds O;kl dh rkj ls

?kqek;k x;k tks 0.45   izfr0eh0 gS 50 eh0 rkj

dh yEckbZ iz;ksx dh xbZA iqu% ?kqekonkj dqaMyh ds

izfrjks/k esa cnyko vk,xk %

(A) 6.5  (B) 4.5 

(C) 2.5  (D) 9.5 

61. ehVj ds vksoj gkWfyax vkWizs”ku esa ik;k x;k fd

eksVj lhy fc;fjax ls lfTtr gSA fc;fjax dh

vko”;drk gksxh %

(A) Ng eghus ds varjky esa rsy Mkyuk

(B) ,d eghus ds varjky esa rsy Mkyuk

(C) bldh iwjh ftnaxh rsy u Mkyuk

(D) ,d lky ds varjky esa rsy Mkyuk

62. vki vksg~e ehVj ds }kjk la?kkfj= dh “kfDr dk
ijh{k.k dj jgs gSA la?kkfj= vPNh fLFkfr esa rHkh
jgrk tc lwpd pyrk gS%
(A) “kwU; ,oa /khjs ls vuar fLFkfr rd
(B) vuar fLFkfr vkSj “ks’k
(C) “kwU; fLFkfr vkSj “ks’k
(D) vuar fLFkfr vkSj “kwU; fLFkfr rd
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63. Sweep of ceilling fan refers to :
(A) Double the distance from center of motor to tip

of blade
(B) The distance from centre of motor to tip of blade
(C) Double the length of blade
(D) Radius of circle formed by its rotation

64. The resistance of a conductor of diameter ‘d’ and

length ‘ ’ is ‘R’ Ohms. If the diameter of the

conductor is halved and its length is doubled, the
resistance of the conductor is :
(A) R Ohms (B) 2 R Ohms
(C) 4R Ohms (D) 8 R Ohms

65. The resistivity of the conductor depends on the  :
(A) Area of conductor
(B) Length of the conductor
(C) Type of material
(D) None of these

66. The current flowing in a series circuit having four
equal resistors is I amperes. What is the magnituds
of the current if 4 resistances are connected in
parallel ?
(A) 0.25I (B) I
(C) 4I (D) 8I

67. A capacitor carries a charge of 0.15 C at 10V. Its
capacitance is :
(A) 0.015F (B) 1.5F
(C) 1.5 F (D) None of these

68. To obtain a high value of capacitance the
permitivity of the dielectric material should be :
(A) Low (B) Medium
(C) High (D) That of air

69. One Farad is equal to :

(A) 1 (B) 1 V/C
(C) 1C/V (D) None of these

70. The unit of resistivity is :

(A)  (B)  /m

(C)  /m2 (D)  -m

63. Nr okys ia[ks dk pDdj ladsr djrk gS%
(A) eksVj ds dsanz vkSj CysM ds “kh’kZ ls nqxquh nwjh
(B) eksVj ds dassnz vkSj CysM ds “kh’kZ ls nwjh
(C) CysM dh yackbZ dk nqxq.kk
(D) mlds ,d pDDj ls o`r dh f=T;k curh gS

64. ,d fo|qr pkyd dk izfrjks/k ftldk O;kl ‘d’

vkSj ‘  ’ yackbZ vkSj izfrjks/k ‘R’ vksg~e gS ;fn dk
O;kl vk/kk dj ns rks fo|qr pkyd dk izfrjks/k
gS %
(A) R vksg~e (B) 2 R vksg~e
(C) 4R vksg~e (D) 8 R vksg~e

65. fdlh fo|qr pkyd dh izfrjks/kdrk fuHkZj djrh gS%
(A) pkyd ds {ks=Qy ij
(B) pkyd dh yackbZ ij
(C) lkexzh ds izdkj ij
(D) buesa ls dksbZ ugha

66. ,d ,Eih;j ds pkj cjkcj izfrjks/k eas Js.kh ifjiFk
ij fo|qr /kkjk cg jgh gSA ;fn 4 izfrjks/k
lkekUrj tksM+rs gS rks fo|qr /kkjk dk ifjeku gksxk%
(A) 0.25I (B) I
(C) 4I (D) 8I

67. ,d la?kkfj= esa 10V esa 0.15 C vkos”k cgrk gS]
mldh /kkfjrk gS %
(A) 0.015F (B) 1.5F

(C) 1.5 F (D) buesa ls dksbZ ugha

68. la?kkfj= dk mPp eku izkIr djus ds fy, <k¡drk
gqvk vlokgd inkFkZ gksuk pkfg, %
(A) fuEu (B) e/;e
(C) mPp (D) gok ds dkj.k

69. ,d QSjkWM cjkcj gS%

(A) 1 (B) 1 V/C
(C) 1C/V (D) buesa ls dksbZ ugah

70. izfjks/kdrk dk ek=d gS %

(A)  (B)  /m

(C)  /m2 (D)  -m
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71. When more than one equipment is to be earthed :

(A) Parallel connection should invariably be used
(B) Series connection should invariably be used
(C) Either (A) or (B)
(D) None of the above

72. Fuse is always connected :
(A) In series with the circuit to be protected
(B) In parallel with the circuit to be protected
(C) Either (A) or (B)
(D) None of the above

73. The material used for fuse must have :
(A) Low melting point and low specific resistance
(B) Low melting point and high specific resistance
(C) High melting point and low specific resistance
(D) Low melting point with any specific resistance

74. Magnetic flux has the unit of :
(A) Newton (B) Ampere turns
(C) Coulomb (D) Weber

75. The Right hand rule for determining the direction
of induced emf enunciated by :
(A) Faraday (B) Loz
(C) Fleming (D) Maxwell

76. From economy point of view, mostly the wiring
employed in residential building is :
(A) Cleat wiring
(B) Casing-capping wiring
(C) C.T.S. wiring
(D) Conduit wiring

77. How many coils are required in a Megger :
(A) One (B) Two
(C) Three (D) Four

78. The wattmeter :
(A) Has three connections two of which are used at

a time
(B) Can measure dc power output but not 60 c/s.

a.c power
(C) Has voltage and current coils to measure the

real power
(D) Only measure apparent power

71. tc ,d ls vf/kd midj.k fo|qr ifjiFk dks i`Foh
ls tksM+rs gS%
(A) fLFkj lkekarj laca/k mi;ksx djus pkfg,
(B) fLFkj Js.kh laca/k mi;ksx djus pkfg,
(C) (A) ;k (B)
(D) buesa ls dksbZ ugha

72. ¶;wt+ ges”kk tqM+rk gS %
(A) ml Js.kh esa tgk¡ ifjiFk lqjf{kr jgrk gS
(B) lekukarj esa tgk¡ ifjiFk lqjf{kr jgrk gS
(C) (A) ;k (B) nksuksa
(D) buesa ls dksbZ ugha

73. tks lkexzh ¶;wt+ ds fy, mi;ksx gksrh gS mlesa %
(A) de xyukad vkSj de visf{kd izfrjks/k
(B) de xyukad vkSj vf/kd visf{kd izfrjks/k
(C) vf/kd xyukad vkSj de visf{kd izfrjks/k
(D) de xyukad visf{kd izfrjks/k ds lkFk

74. pqEcdh; izokg dh bZdkbZ gS %
(A) U;wVu (B) ,Eih;j pDdj
(C) dwykWe (D) oScj

75. izsfjr emf dh fn”kk O;Dr djus esa nk,¡ gkFk fu;e dk
fu/kkZj.k djrk gS%
(A) QSjkWMs (B) ykst+
(C) ¶ysfeax (D) eSDloSy

76. vkfFkZd n`f’V ls ?kjsyw edkuksa esa vf/kdrj rkjsa yxkbZ
tkrh gS%
(A) dyhV rkjsa
(B) vkoj.k dSfix rkjsa
(C) lh Vh ,l rkjsa
(D) ikbiykbu rkjsa

77. eSxj esa fdruh dk;¡y gksrh gS%
(A) ,d (B) nks
(C) rhu (D) pkj

78. okWVehVj %
(A) okWVehVj ds rhu laca/k gS] ,d le; esa nks

mi;ksx gksrs gS
(B) fctyh mRiknu dks ekirk gS] ,-lh- dh 60 c/s

ikoj dks NksM+ dj
(C) oksYVst+ vkSj djaV okyh rkjsa okLrfod “kfDr

ekius ds fy, gksrh gS
(D) dsoy izR;{k “kkfDr ekirs gS
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79. The dynamometer wattmeter can be used to

measure :

(A) a.c power

(B) d. c power

(C) a.c or d  power

(D) a.c power in only circuits

80. The controlling torque in an indicating instrument :

(A) Brings the pointer back to the zero position

when instrument is disconnected

(B) Controls the diflection and tries to stop the

pointer at its final position where diflecting

torque is equal to controlling torque

(C) Reduces the oscillations of pointer and quickly

brings the pointer to its final position

(D) Both (A) and (B)

81. The two laws that forms the basis of circuit

analysis were enunciated by :

(A) Faraday (B) Ohm

(C) Bohr (D) Kirchoff

82. Maximum speed of a synchronous machine for 50

H
z
 :

(A) 1500 r.p.m. (B) 3000 r.p.m.

(C) 20000 r.p.m. (D) 3000 r.p.m.

83. When a conductor is moved inside a uniform

magnetic field :

(A) It experiences a force

(B) An emf is induced

(C) A current flows through it

(D) A flux is produced

84. The rotor of squirrel cage induction motor is

skewed because :

(A) It reduces humming thus ensures quite running

(B) It results in a smoother torque curves

(C) It reduces the magnetic locking of stator and

rotor

(D) All of above

79. MkbuksehVj okVehVj ekius ds fy, mi;ksx dj
ldrs gS%
(A) ,-lh- ikoj
(B) Mh-lh- ikoj
(C) ,-lh- vkSj Mh-lh ikoj
(D) ,-lh- ikoj dsoy 1-  lfdZV esa

80. lwpd ;a= esa fu;a=.k gksrk gS%
(A) tc ;a= dk laca/k gVk fn;k tkrk gS rks lwpd

“kwU; fLFkfr esa vk tkrk gS
(B) fo{ksi.k fu;=a.k mldh vafre fLFkfr ij fu;a=.k

djrk gS vkSj lwpd can djus dh dksf”k”k djrk
gS tgk¡ vk?kw.kZ cy ds fu;=ad ls fo{ksfir vk?kw.kZ
cy cjkcj gks

(C) lwpd dk nkSyu de vkSj rst djrk gS vkSj
lwpd dks vafre fLFkfr esa ykrk gS

(D) (A) vkSj (B) nksuksa

81. fo|qr ifjiFk ds vk/kkj dk fo”ys’kd O;Dr djus esa
nks fu;e cukrs gS%
(A) QSjkWMs (B) vksg~e
(C) cksgj (D) fdjpkWQ

82. vf/kdre pky ,d fludksjksul e”khu ds fy,
50 H

z
  ij gS %

(A) 1500 vkj-ih-,e- (B) 3000 vkj-ih-,e-
(C) 20000 vkj-ih-,e- (D) 3000 vkj-ih-,e-

83. tc ,d pkyd leku pqcdh; {ks= esa tkrk gS rks %
(A) cy dk vuqHko djrk gS
(B) izsfjr gksrk gS
(C) fo|qr /kkjk cgrh gS
(D) fo|qr izokg mRiUu gksrk gS

84. Ldok;y dst ?kw.kZda izjs.k eksVj frjNk gksrk gS
D;kssfd %
(A) xquxqukgV dks de djrk gS rkfd vklkuh ls

py lds
(B) og ifj.kke nsrk gS ,d lery v/kw.kZ eksM+ ij
(C) og LVkVZj ds pqacdh; izHkko vkSj v/kw.kZ dks de

djrk gS
(D) fn, x, lHkh
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85. The alternating current system was put into

practical use in :

(A) 1820 (B) 1880

(C) 1866 (D) 1896

86. A direct current of 1 ampere flowing through a

resistance an alternating circiut current flows through

the resistance,  of heat is produced by :

(A) Maximum current

(B) Effective current

(C) Average current

(D) None of these

87. The root mean square value of an alternating

quantity is another name for its :

(A) Instataneous value

(B) Peak value

(C) Effective value

(D) Average value

88. The form factor of alternating quanity is given by :

(A) Average value/RMS value

(B) Average value/Maximum value

(C) RMS/value/Average value

(D) RMS value/Maximum value

89. Blinking of fluorescent tube may be due to :

(A) Low circuit voltage

(B) Low ballast rating

(C) Low temperature

(D) Any of the above

90. The safety fuse should have :

(A) High resistance and high melting point

(B) High resistance and low melting point

(C) Low resistance and high melting point

(D) Low resistance and low  melting point

85. foijhr fo|qr /kkjk iz.kkyh dks iz;ksxkRed iz;ksx

es dc yk;k x;k gS%

(A) 1820 (B) 1880

(C) 1866 (D) 1896

86. ,d ,Eih;j dh lh/kh fo|qr /kkjk ,d izfrjks/k esa  cg

dqN ek=k] Å’ek dh mRiUu djrh gSA ;fn fdlh

foijhr fo|qr ifjiFk esa fo|qr/kkjk izfrjks/k esa ls

cgrh gS rks leku Å’ek dh ek=k gksrh gS%

(A) vf/kdre /kkjk izokg

(B) izHkkfor /kkjk }kjk

(C) vkSlr /kkjk }kjk

(D) buesa ls dksbZ ugha

87. oxZewy dk vfHkizk; gS foijhr ek=k dk oxZ dk

eku nwljs uke ls tkuk tkrk gS %

(A) rkRdkfyd eki

(B) vf/kdre eku

(C) izHkkfor eku

(D) vkSlr eku

88. foijhr ek=k dh ?kVd fof/k fuEu ds }kjk nh tkrh

gS%

(A) vkSlr eku@RMSeku

(B) vkSlr eku@vf/kdre eku

(C) vkj-,l-,l eku@vkSlr eku

(B) vkj-,l-,l eku@vf/kdre eku

89. izfrnhIr V;wc ds >idus dk dkj.k gS %

(A) de oksYVst fo|qr ifjiFk

(B) de foLQksVd nj

(C) de rkieku

(D) buesa esa ls dksbZ Hkh

90. lqj{kk Q;wt+ gksuk pkfg, %

(A) mPp izfrjks/kdrk vkSj mPp xyukad

(B) mPp izfrjks/kdrk vkSj de xyukad

(C) de izfrjks/kdrk vkSj mPp xyukad

(D) de izfrjks/kdrk vkSj de xyukad
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91. A transformer with output of 250 KVA at 3000 V,

has 600 turns on its primary side and 60 tums on

the secondary winding. What will be the voltage at

primary side :

(A) 300 V (B) 30000 V

(C) 30 V (D) 3 x 105 V

92. An ordinary tube light used for lighting purpose

contains:

(A) Fluorescent material and inert gas

(B) One filament, reflective material and mercury

vapour

(C) Fluorescent material and mercury vapour

(D) Two filaments, fluorescent material and

mercury vapour

93. The eddy current losses in the transformer occurs

in the :

(A) Primary winding (B) Core

(C) Secondary winding (D) None of these

94. The condition for maximum efficiency of the

transfomer is that :

(A) Copper losses are half the iron losses

(B) Copper losses are equal to the square of the

iron losses

(C) Copper losses are equal to the iron losses

(D) Copper losses are zero

95. Copper as conductor for cables is used as :

(A) Hard dram

(B) Annealed

(C) Hardened & tempered

(D) Alloy with chromium

96. The segments of the commutator of a D.C machine

are insulated from each other by :

(A) Rubber (B) Porcelain

(C) Mica (D) Varnish

91. ,d VªkalQkeZj ftldk mRiknu 250 KVA 3000 V,

oksYV ij izkFkfed igyw esa 600 pDdj vkSj fnR;d
igyw ds ?kqeko esa 60 pDdj gS A izkajfHkd igyw dk
oksYVst+ D;k gksxk %
(A) 300 oksYV (B) 30000 oksYV
(C) 30 oksYV (D) 3 x 105 oksYV

92. ,d lk/kkj.k V;wc ykbV ds fy, mi;ksx esa ykbZ
tkrh gS%
(A) nhIr lkexzh vkSj vfØe xSl
(B) ,d rarq] ijorZu lkexzh vkSj ejdjh ok’i
(C) nhIr lkexzh vkSj ejdjh ok’i
(D) nks rarq nhIr lkexzh vkSj ejdjh ok’i

93. VªkalQkeZj esa ,Mh djUV gkuh dgk¡ gksrh gS%
(A) izkFkfed izokg (B) dsUnz Hkkx
(C) f}R;d izokg (D) buesa ls dksbZ ugha

94. VªkalQkeZj dh lcls vf/kd {kerk okyh fLFkfr gS%
(A) rk¡cs dh gkfu yksgs dh gkfu dk vk/kk gS
(B) ,d oxZ yksgs dh gkfu cjkcj gS rk¡cs dh gkfu ds
(C) rk¡cs dh gkfu cjkcj gS yksgs dh gkfu ds
(D) rk¡cs dh gkfu “kwU; gS

95. fctyh dh rkjksa esa dkWij pkyd ds :i esa iz;ksx
fd;k tkrk gS %
(A) etcwr vk;ru
(B) ,fu;kysM (rkikuq”khfrr)

(C) dM+kiu ,oa yphykiu (/kkrq dks xje o BM+k
djds dBksj vkSj yphyk cukuk)

(D) feJ/kkrq Øksfe;e ds lkFk

96. fLop dk og Hkkx ftlls fo|qr /kkjk dh fn”kk cny
nh tkrh gS] ,d &nwljs ls jksf/kr gksrh gS%
(A) jcM+ (B) isklZfyu
(C) ekbdk (D) ofuZ”k
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97. Which of the following motor has high starting torque:

(A) d.c. shunt motor (B) d.c. series motor

(C) Both (A) and (B) (D) None of the above

98. The number of parallel paths in wave wound

armature are :

(A) Equal to the number of poles of the machine

(B) Equal to two, irrespective of the number of poles

(C) Equal to number of communtator segments

(D) Equal to number of armature conductors

99. Which of the following motor is used to drive. The

constant speed line shafting, lathes, blowers and

fan?

(A) d.c. shunt motor

(B) d.c. series motor

(C) Comulative compound motor

(D) None of the above

100. In a D.C. machine iron losses occur in :

(A) The yoke (B) The pole shoe

(C) The armature (D) The field

97. fuEufyf[kr esa dkSu lh eksVj esa lcls vf/kd
vk?kw.kZ cy gS%
(A) Mh-lh- “kaV eksVj (B) Mh-lh- J`a[kyk eksVj
(C) (A) vkSj (B) nksuksa (D) buesa ls dksbZ ugha

98. ,d rjax esa lekukadj iafDr dh la[;k (armature)

vkesZpj dks ?kqekrh gS
(A) e”khu ds /kqozks dh la[;k ds leku
(B) nsk leku bjsZLisfDVo iksy dh la[;k ds leku
(C) dE;waVsVj  izjs.k dh la[;k ds leku
(D) vkesZpj [kaM dh la[;k ds leku

99. ,d fLFkj pky esa dkSu lh eksVj mi;ksx es ykbZ tkrh
gS eksVj dk MaMk] [kjkn e”khu] /kkSduh vkSj ia[kk
pykus es %
(A) Mh-lh- “kaV eksVj
(B) Mh-lh- J`a[kyk eksVj
(C) la;qDr ;kSfxd eksVj
(D) buesa ls dksbZ ugha

100. Mh-lh- e”khu esa yksgs dh gkfu mRiUu gksrh gS%
(A) ;ksd (B) /kzqo ij
(C) vkesZpj ij (D) {ks= ij
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